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ઉમેદવાર ેનીચેની સૂચનાઓનંુ પાલન કરવાની તકેદારી રાખવી, અլયથા વાંધા-સૂચન અંગ ેકરલે રજૂઆતો իયાને
લેવાશે નહી ં
(1) ઉમેદવાર ેવાધંા-સચૂનો િનયત કરવામા ંઆવેલ વાંધા-સૂચન પԋકથી રજૂ કરવાના રહેશે. 
(2) ઉમેદવાર ેԐՇԐમાણે વાધંા-સચૂનો રજૂ કરવા વેબસાઈટ પર Ԑિસիધ થયેલ િનયત વાંધા-સૂચન પԋકના નમૂનાનો જ

ઉપયોગ કરવો.
(3) ઉમેદવાર ેપોતાન ેપરીԟામા ંમળેલ ԐՇપુિչતકામા ંછપાયેલ ԐՇԃમાંક મુજબ વાંધા-સૂચનો રજૂ ન કરતા તમામ વાંધા-

સૂચનો વેબસાઈટ પર Ԑિસիધ થયેલ Ԑોિવઝનલ આլસર કી (માչટર ԐՇપԋ)ના ԐՇ ԃમાંક મુજબ અન ેતે સંદભӪમાં
રજૂ કરવા. 

(4) માչટર ԐՇપԋ મા ંિનિદӪ Ջ ԐՇ અને િવકճપ િસવાયના વાંધા-સચૂન իયાન ેલેવામાં આવશ ેનહી.ં 
(5) ઉમેદવાર ેજ ેԐՇના િવકճપ પર વાંધો રજૂ કરલે છે અન ેિવકճપ ԁપ ેજ ેજવાબ સચૂવેલ છે એ જવાબ ઉમેદવાર ેપોતાની

ઉԱરવહીમા ંઆપેલ હોવો જોઈએ. ઉમેદવાર ેસચૂવેલ જવાબ અને ઉԱરવહીનો જવાબ િભՂ હશ ેતો ઉમેદવાર ેરજૂ
કરલે વાંધા-સચૂન իયાનમા ંલેવાશ ેનહી.ં 

(6) એક ԐՇ માટે એક જ વાંધા-સૂચન પԋક વાપરવું. એક જ વાંધા-સૂચન પԋકમા ંએકથી વધાર ેԐՇોની રજૂઆત કરલે
હશે તો ત ેઅંગેના વાધંા-સચૂનો իયાન ેલેવાશ ેનહી.ં 
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001. Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. yLkkíkko (Anarta) ÃkhtÃkhk suðk Mkehk{eõMkyu «rþü (Classical) nhÃÃkLk Mkehk{eõMk MkkÚku Mkki«Úk{ Mkwhfkuxzk
¾kíkuÚke {éÞkLkk ynuðk÷ Au.

2. yLkkíkko (Anarta) ÃkhtÃkhk yÚkðk yLkkíkko (Anarta) [eòu yu [kÕfkur÷rÚkf (Chalcolithic) MktMf]rík Au.

3. yLkkíkko (Anarta) [eòu økwshkíkLkk Ãkkxý yLku fåA rsÕ÷k{ktÚke {¤e ykðu÷ Au.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) {kºk 1 yLku 2

002. þt¾uïh siLk {trËh çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. yk {trËh{kt ÃkkïoLkkÚk ¼økðkLk ÂMÚkík Au.

2. yk {trËh YÃkuý LkËeLkk fktXu ÂMÚkík Au.

3. {nt{Ë økÍLke îkhk yuf ð¾ík yk {trËhLku ÷qtxe yLku Lkkþ fhðk{kt ykÔÞku níkku.

(A) 1, 2 yLku 3 (B) {kºk 1 yLku 2

(C) {kºk 2 yLku 3 (D) {kºk 1 yLku 3

003. Lke[uLkk Ãkife fE òuze ÞkuøÞ heíku òuzkÞu÷e Au ?

      ¾kuËfk{Lkwt MÚk¤                    MÚkkLk

(A) {k÷ðý MÚk¤ –   íkkÃke LkËeLkwt Lke[uLkwt {w¾

(B) ÃkkËhe MÚk¤ –   Mkkihk»xÙLkku Ërûký ËrhÞk rfLkkhku

(C) (A) íkÚkk (B) çkLLku

(D) (A) yÚkðk (B) yuf Ãký Lk®n

004. Ãkk÷k r[ºkfk{ þi÷e rðþu Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. yk r[ºkfk{Lkwt rð»kÞ ðMíkw yu {nkÞkLk çkkiØ Ä{oÚke «¼krðík Au.

2. yk r[ºkfk{ yu ¼ªík r[ºkku yLku Ãkk{Lkk ÃkýoLkk nMík«íkku Ãkh òuðk {¤u Au.

3. yk «fkhLkk r[ºkfk{Lke þi÷eyu ystíkk yLku çkkÄ ¼ªíkr[ºkkuLke þi÷eLku {¤íke ykðu Au.

(A) {kºk 1 yLku 2 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) 1, 2 yLku 3

005. Lke[uLkk Ãkife fE òuze/òuzeyku ÞkuøÞ heíku òuzkÞu÷e Au ?

1. økúux çkkÚk – {kunUòu-Ëzku

2. xuhkfkuxk n¤ – fwtxkMke

3. Mk{ktíkh rËðk÷ {k¤¾wt – øke÷wLz

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) {kºk 1 yLku 2

006. Lke[uLkk Ãkife fÞwt yu Lk]íÞ yLku LkkxfLkwt r{©ý Au ?

(A) fw[eÃkwze (B) ¼ktøkzk

(C) ÞûkøkkLk (D) ¼híkLkkxâ{T

007. Lke[uLkk Ãkife fE f]rík yu sÞtíke÷k÷ îkhk ÷¾kÞu÷e òýeíke økwshkíke ÷½wðkíkko Au ?

(A) yz¾u Ãkz¾u (B) ÷k¾ [kuhkMke

(C) Ãkøk÷eLkku ÃkkzLkkh (D) ÃkrÈLke
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001. Which of the following statements is/are correct?

1. The ceramics similar to the Anarta tradition was first reported from Surkotada with Classical
Harappan ceramics.

2. The Anarta tradition or Anarta ware is a chalcolithic culture

3. The Anarta ware found from Patan and Kutch districts of Gujarat

(A) 1, 2 and 3 (B) 2 and 3 only

(C) 1 and 3 only (D) 1 and 2 only

002. Which of the following statements is/are correct regarding Sankeshwar Jain temple?

1. This temple is located to God Parshwanath

2. This temple is located on the banks of Rupen river

3. Once this temple was plundered and destroyed by the Mahmud of Ghazni

(A) 1, 2 and 3 (B) 1 and 2 only

(C) 2 and 3 only (D) 1 and 3 only

003. Which of the following pairs is/are correctly matched?

       Excavation                Site-Location

(A) Malvan site -  Lower estuary of Tapti river

(B) Padri Site -   Southern coast of Saurashtra

(C) Both (A) and (B)

(D) Neither (A) nor (B)

004. Which of the following statements is/are correct regarding Pala Painting Style?

1. The content of this style of painting was influenced by Mahayana Buddhism

2. This painting is found on murals and palm leaf manuscripts

3. This style of painting has resemblance with Ajanta and Bagh Mural painting styles

(A) 1 and 2 only (B) 2 and 3 only

(C) 1 and 3 only (D) 1, 2 and 3

005. Which of the following pairs is/are correctly matched?

1. Great Bath- Mohenjo-daro

2. Terracota Plough- Kuntasi

3. Parallel wall structure - Gillund

(A) 1, 2 and 3 (B) 2 and 3 only

(C) 1 and 3 only (D) 1 and 2 only

006. Which of the following is a combination of dance and drama?

(A) Kuchippudi (B) Bhangda

(C) Yakshgana (D) Bharatnatyam

007. Which of the following works is the well known Gujarati short story written by Jayantilal?

(A) Adkhe Phadke (B) Lakh Chorasi

(C) PagalinoPadnar (D) Padmini
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008. fåAe ¼k»kk rðþu Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. fåAe yu ELzku ykÞoLk ¼k»kk Au.

2. yk ¼k»kkyu økwshkíkLkk fåA ûkuºk{kt yLku ÃkkrfMíkkLkLkk ®MkÄ ûkuºk{kt WÃkÞkuøk{kt ÷uðkÞ Au.

3. Ãknu÷ktLkk Mk{Þ{kt íku ¾kusfe r÷rÃk{kt ÷¾ðk{kt ykðíke níke su nðu ÷wÃík ÚkE økE Au.

(A) {kºk 1 yLku 2 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) 1, 2 yLku 3

009. hk{kLkwsu .......... Mkt«ËkÞLkk ðÄíkk Vu÷kðk Mkk{u ði»ýð ðkËLke Lkðe þk¾k MÚkkÃke.

(A) YÃk ÷ûkeíkkðkË (Formalism) (B) Q{eo ÷rûkíkkðkË (Romanticism)

(C) hnMÞðkË (Mysticism) (D) yn{ yuf ðkË (Solipcism)

010. Lke[uLkk Ãkife fE òuze ÞkuøÞ heíku òuzkÞu÷e LkÚke ?

(A) {]åAfrxf – þqÿf (B) {k÷rðfkÂøLkr{ºk – fkr÷ËkMk

(C) {wÿk hkûkMk – rðþk¾ Ë¥k (D) híLkkð÷e – yï ½ku»k

011. Lke[uLkk ÃkifeLkku fÞku økútÚk yu çkkiØ Ä{oLkk {wÏÞ ºký økútÚkku{ktLkku LkÚke ?

(A) rðLkÞ rÃkrxfk (B) Mkq¥k rÃkrxfk

(C) rºk rÃkrxfk (D) yr¼½B{ rÃkrxfk

012. ÞkËe-A Lku ÞkËe-B MkkÚku òuzku.

     ÞkËe-A          ÞkËe-B

a. Mktfh Ëuð 1. hrMkf Mkt«ËkÞ

b. [iíkLÞ Ëuð 2. ðeh þið Mkt«ËkÞ

c. çkkMðuïh 3. økkizeÞ Mkt«ËkÞ

d. Lkk¼kËkMk 4. {nkÃkwYþeÞ Mkt«ËkÞ
(A) a - 2, b - 1, c - 4, d - 3 (B) a - 2, b - 3, c - 1, d - 4
(C) a - 4, b - 3, c - 2, d - 1 (D) a - 1, b - 2, c - 3, d - 4

013. Lke[uLke ÞkËe-A Lku ÞkËe-B MkkÚku òuzku.

     ÞkËe-A       ÞkËe-B

a. ðzkuËhk 1. Lkkxâ ½h

b. hksfkux 2. f÷krLkfuíkLk

c. Mkwhík 3. rºkðuýe

d. y{ËkðkË 4. Lkx {tz¤
(A) a - 4, b - 3, c - 2, d - 1 (B) a - 3, b - 2, c - 1, d - 4
(C) a - 1, b - 2, c - 3, d - 4 (D) a - 2, b - 1, c - 4, d - 3

014. LkðMkkheLkk «Úk{ ËMíkwh {unuhShkýkLkwt økútÚkk÷Þyu ‘The Oxford of Gujarat’ íkhefu yku¤¾kÞ Au fkhý fu ..........

(A) yk økútÚkk÷Þ{kt {kºk yMktÏÞ ytøkúuS ÃkwMíkfku Au.

(B) íku ykuõMkVzo ÞwrLkðŠMkxe MkkÚku Mkt÷øLk Au.

(C) (A) íkÚkk (B) çkLLku

(D) (A) yÚkðk (B) yuf Ãký Lk®n
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008. Which of the following statements is/are correct regarding Kutchi Language?

1. Kutchi is an Indo-Aryan Language

2. This language is used in Kutch region of Gujarat and Sindh region of Pakistan

3. In earlier times it was written in Khojki script, which is now extinct.

(A) 1 and 2 only (B) 2 and 3 only

(C) 1 and 3 only (D) 1, 2 and 3

009. Ramanuja founded a new school of Vaishnavism against the increasing cult of

(A) Formalism (B) Romanticism

(C) Mysticism (D) Solipcism

010. Which of the following pairs is INCORRECTLY matched?

(A) Mricchakatika - Sudraka (B) Malavikagnimitra - Kalidasa

(C) Mudrarakshasa - Visakhadatta (D) Ratnavali - Ashvaghosha

011. Which of the following is not among the three major treatise of Buddhism?

(A) Vinaya Pitaka (B) Sutta Pitaka

(C) Tri Pitaka (D) Abhidhamma Pitaka

012. Match the following List-A with List-B

        List-A       List-B

a. Sankardev 1. Rasik School

b. Chaitanyadev 2. Veershaiva School

c. Basveshwar 3. Gaudiya School

d. Nabhadas 4. Mahapurushiya School

(A) a - 2, b - 1, c - 4, d - 3 (B) a - 2, b - 3, c - 1, d - 4

(C) a - 4, b - 3, c - 2, d - 1 (D) a - 1, b - 2, c - 3, d - 4

013. Match the following List-A with List-B

        List-A       List-B

a. Vadodara 1. Natyaghar

b. Rajkot 2. Kalaniketan

c. Surat 3. Triveni

d. Ahmedabad 4. Natmandal

(A) a - 4, b - 3, c - 2, d - 1 (B) a - 3, b - 2, c - 1, d - 4

(C) a - 1, b - 2, c - 3, d - 4 (D) a - 2, b - 1, c - 4, d - 3

014. The library of First Dastoor Meherjirana of Navsari was known as ‘The oxford of Gujarat’,
because _______

(A) This library have only innumerable English books

(B) It was affiliated with oxford university

(C) Both (A) and (B)

(D) Neither (A) nor (B)
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015. ¼khíkLkk Ëuþe hsðkzkykuLke çkkçkík{kt ytøkúus EMx EÂLzÞkLkk fÞk økðLkoh sLkh÷u íkxMÚkíkkLke yLku rçkLk-nMíkûkuÃkLke
rLkrík Ëk¾÷ fhe níke ?

(A) ðkuhLk nu®MxøMk (B) ÷kuzo fkuLkoðkur÷Mk

(C) Mkh òuLk þkuh (D) ÷kuzo ðu÷uM÷e

016. Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. çkLkkhMk fkUøkúuMk (1950){kt WøkúðkËeyku (The extremists) yLku {ðk¤ðkËeyku (The moderates) ðå[uLkk {ík¼uËku
LkkUÄÃkkºk heíku çknkh ykÔÞk.

2. 1907Lkk MkºkLkwt yMk÷ MÚk¤ ÃkqLkk níkwt.

3. rík÷f yu Mkwhík fkUøkúuMkLkk «{w¾ çkLÞk.

4. Mkwhík fkUøkúuMk (1907) ¾kíku ¼khíkeÞ hk»xÙeÞ fkUøkúuMk{kt rð¼ksLk ÚkÞwt.

(A) 1, 2, 3 yLku 4 (B) {kºk 1, 2 yLku 4

(C) {kºk 3 yLku 4 (D) {kºk 2, 3 yLku 4

017. økwshkíkLkk Mkw÷íkkLk çknkËwh þkn yu .......... Lkk rðïkMk½kíkLkk fkhýu nw{kÞw Mkk{u ÞwØ nkhe økÞk.

(A) Y{e ¾kLk (B) YMík{ ¾kLk

(C) þuh ¾kLk (D) nMkLk ¾kLk {uðkf

018. ¼khíkeÞ hk»xÙeÞ fkUøkúuMkLkk .......... Mkºk{kt MkhËkh ðÕ÷¼¼kE Ãkxu÷ «{w¾ íkhefu [qtxkÞk.

(A) 1930 ({wtçkE Mkºk) (B) 1931 (fhkt[e Mkºk)

(C) 1933 (f÷f¥kk Mkºk) (D) 1934 ({ÿkMk Mkºk)

019. Lke[uLkk Ãkife fkuýu Mkkt¼kS çkkË {hkXk ðneðxe íktºkLku MkwÔÞðÂMÚkík fÞwO ?

(A) hkò hk{ (B) çkk÷kS rðïLkkÚk

(C) øktøkkçkkE (D) LkkLkkS Ëuþ{w¾

020. økwshkíkLkk hkßÞÃkk÷ ÍVh¾kLku ykiÃk[krhf heíku íkuLke MðíktºkíkkLke ½ku»kýk õÞkhu fhe níke ?

(A) y÷kWÆeLk ¾e÷SLkk {]íÞw çkkË (B) {nt{Ë rçkLk íkw½÷¾Lkk {]íÞw çkkË

(C) rík{whLkk rËÕne ÃkhLkk yk¢{ý çkkË (D) rVYÍ íkw½÷¾Lkk þkMkLkfk¤ ËhBÞkLk

021. Lke[uLkk Ãkife fkuýu ykhçk MkiLÞ MkkÚku ÞwØ fÞwO yLku økwsh Ëuþ{kt ÃkwLk:Mðíktºkíkk MÚkkrÃkík fhe ?

(A) Mke÷wfk (Siluka) (B) [ktËqfk (Chanduka)

(C) Lkkøk¼x (Nagabhata) (D) Ëktíkeð{oLk (Dantivarman)

022. økwshkík{kt 1857Lke [¤ð¤ ytøku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. ¾kLkÃkwhLkk Sðk¼kE Xkfkuh yLku økhçkzËkMk Ãkxu÷u ykýtË{kt ¾uzqík çk¤ðkLke ykøkuðkLke ÷eÄe.

2. {økLk÷k÷ çkLkeÞkyu økkÞfðkzLkk ûkuºk{kt fze íkk÷wfk{ktÚke “çk¤ðk” MkiLÞ {kxu {kýMkkuLke rLk{ýqtf fhe.

3. n{eh¾kLkLke ykøkuðkLke nuX¤Lkk çknkËqhþkn íkhVe Ë¤ku yu ËuðøkZ çkkheÞk LkSf fuÃxLk çkf÷Lkk Ë¤ku Ãkh nw{÷ku
fÞko.

(A) {kºk 1 yLku 2 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) 1, 2 yLku 3
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015. Who among the following Governor-General of the English East India introduced the policy of
neutrality and non-intervention in the affairs of the Indian native states?

(A) Warren Hastings (B) Lord Cornwallis

(C) Sir John Shore (D) Lord Wellesley

016. Which of the following statements is/are correct?

1. It was the Banaras Congress (1905) that the differences between the extremists and the moderates
surfaced noticeably

2. The original venue for 1907 session was Pune

3. Tilak became the President of the Surat congress

4. The Surat Congress (1907) saw the split in the Indian National Congress

(A) 1, 2, 3 and 4 (B) 1, 2 and 4 only

(C) 3 and 4 only (D) 2, 3 and 4 only

017. Sultan Bahadur Shah of Gujarat lost the battle against Humayun due to the treachery of _______

(A) Rumi Khan (B) Rustam Khan

(C) SherKhan (D) Hasan Khan Mewak

018. Sardar Vallabhbhai patel was elected president of Indian National Congress in _______ session.

(A) 1930 (Bombay session) (B) 1931 (Karachi session)

(C) 1933 (Calcutta session) (D) 1934 (Madras Session)

019. Who among the following streamlined the Maratha administration after Sambhaji?

(A) Raja Ram (B) Balaji Viswanath

(C) GangaBai (D) Nanaji Deshmukh

020. When did Zafar Khan, the Governor of Gujarat formally declared his independence?

(A) After the death of Allauddin Khilji (B) After the death of Mahammad Bin Tuglaq

(C) After Timor; Invasion of Delhi (D) During the reign of Feruz Tuglaq

021. Who among the following fought with the Arab armies and restored Gujardesa to freedom?

(A) Siluka (B) Chanduka

(C) Nagabhata (D) Dantivarman

022. Which of the following statements is/are correct regarding 1857 movement in Gujarat?

1. Jivabhai Thakore of Khanpur and Garbad Das Patel led a peasant upsurge in Anand.

2. Maganlal Baniya recruited men for the “rebel” army from Kadi Taluka in Gaekwad’s domain.

3. Pro Bahadur Shah forces led by Hamir Khan attacked the captain Buckle troops near Devgarh
Baria

(A) 1 and 2 only (B) 2 and 3 only

(C) 1 and 3 only (D) 1, 2 and 3
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023. Lke[uLkk Ãkife fÞk rðÄkLkku MkíÞ Au ?

1. [kðzk ðtþLkk Mk{Þ ËhBÞkLk ykLktËLkøkh yu rþûkýLkwt fuLÿ níkwt.

2. {iºkf þkMkf ¼èkhfkyu íkuLke hksÄkLke ð÷¼e ¾kíku MÚkkÃke níke.

3. ‘økwshkík’ þçËyu ykþhu 1000 ð»ko Ãknu÷kt ðÃkhkþ{kt ykÔÞku.

4. {kuZuhkLkwt MkqÞo {trËh yu fýoËuð-I îkhk çkktÄðk{kt ykÔÞwt.

(A) {kºk 2 yLku 4 (B) {kºk 1 yLku 4

(C) {kºk 1, 2 yLku 3 (D) 1, 2, 3 yLku 4

024. Lke[uLkk Ãkife fE òuze/òuzeyku ÞkuøÞ heíku òuzkÞu÷e Au ?

1. ¼khík{kt ÃkkuxwoøkeÍLke «Úk{ Vuõxhe níke. – fkr÷fkx

2. ¼khík{kt ytøkúuòuLke «Úk{ Vuõxhe níke. – Mkwhík

3. ¼khík{kt z[Lke «Úk{ Vuõxhe níke. – {Mkw÷eÃkè{

4. ¼khík{kt £U[Lke «Úk{ Vuõxhe níke. – ÃkkUrz[uhe

(A) {kºk 1 yLku 2 (B) {kºk 2 yLku 3

(C) {kºk 1, 2 yLku 3 (D) 1, 2, 3 yLku 4

025. ¼khíkeÞ fkUøkúuMkLkwt økwshkík{kt «Úk{ Mkºk y{ËkðkË{kt 1902 {kt fkuLkk «{w¾ ÃkË nuX¤ ÞkuòÞwt ?

(A) Mkw¼k»k[tÿ çkkuÍ (B) MkwhuLÿLkkÚk çkuLkhS

(C) yu{. fu. økktÄe (D) ðÕ÷¼¼kE Ãkxu÷

026. Lke[uLkk Ãkife fE çkkçkíkku yu rîÃkfÕÃk LkËeykuLke ÷kûkrýfíkkyku Au ?

1. LkËeykuLkku rLkrùík {køko

2. ðktfk[qfk ÃkxLke nkshe

3. yhçk Mk{wÿ{kt ÃkkýeLkku rLkfk÷ ({¤ðwt)

(A) {kºk 1 (B) 1 yLku 2

(C) 2 yLku 3 (D) 1 yLku 3

027. ðkiXk fu su ‘MkÃík Mktøk{’ íkhefu yku¤¾kÞ Au íÞkt ¼uøke Úkíke Mkkík LkËeykuLke ÞkËe{kt Lke[uLkk Ãkife fE LkËeLkku Mk{kðuþ Úkíkku
LkÚke ?

(A) {ksq{ (B) {uïku

(C) ¼kËh (D) WÃkhLkk Ãkife yuf Ãký Lk®n

028. y÷-LkeLkku çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. íku rð»kwðð]¥keÞ Xtzk «ðknkuLkwt rðMíkhý Au.

2. rð»kwðð]¥keÞ ðkíkkðhýeÞ Ãkrh¼ú{ý yu íkuLkk ÷eÄu rðf]ík ÚkkÞ Au.

3. Mk{wÿ s¤Lkk çkk»Ãke¼ðLk{kt yrLkÞr{íkíkkyu íkuLkk ÷eÄu WíÃkLLk ÚkkÞ Au.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) {kºk 1

029. Akuxk LkkøkÃkwhLkk Mkwðýo hu¾k LkËe ¾eý «ËuþLkk Äkhðkh íktºk h[Lkk MkkÚku MktçktÄeík Mkkuzk økúuLkkEx ÃkÚÚkh yu ..........
Ähkðu Au.

(A) xeLk (B) {wÏÞíðu íkktçkw yLku ÞwhuLkeÞ{ yLkk{íkku

(C) çkkufMkkEx (D) Mkwðýo yLkk{íkku
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023. Which of the following statements are correct?

1. During Chavda dynasty Anandnagar was the centre of education

2. Maitrak ruler Bhattarka had established his capital at Valabhi

3. The name ‘Gujarat’ has come into use before about 1000 years

4. The Sun Temple of Modhera was Constructed by Karnadev-I

(A) 2 and 4 only (B) 1 and 4 only

(C) 1, 2 and 3 only (D) 1, 2, 3 and 4

024. Which of the following pairs is/are correctly matched?

1. First Factory of the Portuguese in India was at – Calicut

2. First Factory of the English in India was at – Surat

3. First factory of the Dutch in India was at – Masulipattam

4. First Factory of the French in India was at – Pondicherry

(A) 1 and 2 only (B) 2 and 3 only

(C) 1, 2 and 3 only (D) 1, 2, 3 and 4

025. In Gujarat the first Session of Indian Congress was held at Ahmedabad in 1902 under the
President ship of

(A) Subhash Chandra Bose (B) Surendranath Banerji

(C) M. K. Gandhi (D) Vallabhbhai Patel

026. Which of the following are the characteristics of the peninsular rivers?

1. Fixed course of the river

2. Presence of the meanders

3. Drainage into the Arabian sea

(A) 1 only (B) 1 and 2

(C) 2 and 3 (D) 1 and 3

027. Which of the following rivers is NOT in list of seven rivers which meet at Vautha, also known as
‘Saptasangam’?

(A) Majum (B) Meshwo

(C) Bhadar (D) None of the above

028. Which of the following statements is/are correct regarding El-Nino?

1. It is an extension of cold equatorial water current

2. Equatorial atmospheric circulation is deformed due to it

3. Irregularity in evaporation of ocean water is generated due to it

(A) 1, 2 and 3 (B) 2 and 3 only

(C) 1 and 3 only (D) Only 1

029. The soda granite rocks belonging to the Dharwar system in the Subarnarekha river valley of
chotanagpur has _______.

(A) Tin (B) Mainly copper and uranium deposits

(C) Bauxite (D) Gold deposits
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030. Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. yuMxuhkuEz yu yu ÃkËkÚkoLkk yðþu»kku yÚkðk yfðkþeÞ yðþu»k Au fu su fkuE økúnLkku ¼køk çkLke þfíkk LkÚke.

2. Äw{fuíkwyu çkhV, hsfýku yLku LkkLkk ¾zfk¤ fýkuLkku Aqxf Mktøkún Au.

3. MkVuË ðk{Lkøkún yu yðfkþ{kt ðkÞw yLku hsfýkuLkku {kuxku ðkË¤ Au.

(A) 1, 2 yLku 3 (B) {kºk 1 yLku 2

(C) {kºk 2 yLku 3 (D) {kºk 1 yLku 3

031. Mkkih {tz¤ rðþu Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. þw¢ yu Ãk]ÚðeLke MkkiÚke LkSf Au yLku íkuLkwt fË Mk{kLk nkuðkÚke íku Ãk]ÚðeLkku òuzfku fnuðkÞ Au.

2. {tøk¤Lku Ãk]ÚðeLke ÉíkwykuLke su{ Éíkwyku nkuÞ Au.

3. ík{k{ økúnku Ãkife økwY yu MkkiÚke ykuAe ½Lkíkk Ähkðu Au.

4. r{ÚkuLkLke nksheLkk fkhýu ÞwhuLkMkyu ÷e÷k økún íkhefu yku¤¾kÞ Au.

(A) 1, 2, 3 yLku 4 (B) {kºk 1, 2 yLku 3

(C) {kºk 1, 2 yLku 4 (D) {kºk 2, 3 yLku 4

032. Ãk]Úðe rðþu Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. yríkW»ý ûkuºk : yrík W»ý ûkuºk yu W»ýfrxçktÄeÞ ûkuºk Ãký fnuðkÞ Au.

2. yrík W»ý ûkuºk yu ffoð]¥k yLku {fhð]¥kLke ðå[u ÂMÚkík Au.

3. Mk{þeíkku»ý ûkuºk yu W¥kh økku¤kÄo{kt ffoð]¥k yLku ykfoxef Mkfo÷Lke ðå[u ÂMÚkík Au.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 1 yLku 3

033. ¼khíkLkk ¼kiøkkur÷f ÷ûkýku çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. sB{w yLku f~{eh (÷Æk¾ MkrníkLkk) ÃkAeLkk ¢{u Ãkrù{ çktøkk¤ yu MkkiÚke ÷ktçke yktíkh hk»xÙeÞ MkhnË Ähkðu Au.

2. íkr{÷Lkkzwyu ºkeò ¢{u ÷ktçkku ËrhÞk rfLkkhku Ähkðu Au.

3. W¥kh «Ëuþyu yLÞ 8 hkßÞku MkkÚku MkhnË Mkn¼køke fhu Au su ¼khíkLke hksfeÞ ¼qøkku¤{kt MkkiÚke ðÄw Au.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 1 yLku 3

034. Lke[uLkk Ãkife fE òuze/òuzeyku Mkk[e òuzkÞu÷e Au ?

1. ykMkk{ rn{k÷Þ – ríkMíkk yLku øktøkkLke ðå[u

2. Ãktòçk rn{k÷Þ – ®MkÄw yLku Mkík÷sLke ðå[u

3. fw{kW rn{k÷Þ – Mkík÷s yLku fk÷eLke ðå[u

4. LkuÃkk¤ rn{k÷Þ – ríkMíkk yLku fk÷eLke ðå[u

(A) 1, 2, 3 yLku 4 (B) {kºk 1, 2 yLku 3

(C) {kºk 2, 3 yLku 4 (D) {kºk 1, 2 yLku 4
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030. Which of the following statements is/are correct?

1. Asteroids are the remains of matter or space debris that could not become part of any planet.

2. Comets are the loose collections of Ice, dust, and small rocky particles.

3. The white dwarf is a huge cloud of gas and dust in space.

(A) 1, 2 and 3 (B) 1 and 2 only

(C) 2 and 3 only (D) 1 and 3 only

031. Which of the following statements is/are correct regarding the solar system?

1. Venus is the closest to the earth and is called as Earth’s twin because of similar size.

2. Mars has seasons similar to the seasons of earth.

3. Jupiter has least density among all the planets

4. Uranus is known as green planet due to the presence of the methane

(A) 1, 2, 3 and 4 (B) 1, 2 and 3 only

(C) 1, 2 and 4 only (D) 2, 3 and 4 only

032. Which of the following statements is/are correct regarding Earth?

1. Torrid Zone: the torrid zone is also called as tropical zone.

2. The Torrid zone is located between the Tropic of cancer and Tropic of Capricorn

3. The temperate zone is located between Tropic of cancer and Arcttic circle in the northern
hemisphere

(A) 1, 2 and 3 (B) 2 and 3 only

(C) 1 and 2 only (D) 1 and 3 only

033. Which of the following statements is/are correct regarding Indian geographical features?

1. West Bengal state is having second longest international boundary after Jammu and Kashmir
(including Ladakh)

2. Tamil Nadu state is having third longest coastal belt.

3. Uttar Pradesh is sharing boundary with 8 other states, this is the highest in Indian Political
geography.

(A) 1, 2 and 3 (B) 2 and 3 only

(C) 1 and 2 only (D) 1 and 3 only

034. Which of the following pairs is/are correctly matched?

1. Assam Himalaya- Between Teesta and Ganga

2. Punjab Himalaya- between Indus and Sutlej

3. Kumaon Himalaya- between Sutlej and Kali

4. Nepal Himalaya- Between Teesta and Kali

(A) 1, 2, 3 and 4 (B) 1, 2 and 3 only

(C) 2, 3 and 4 only (D) 1, 2 and 4 only
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035. økwshkík çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. Mkkihk»xÙ, rîÃkfÕÃk økwshkíkyu ºký çkkswyu Mk{wÿLkk ÃkkýeÚke Mker{ík ÚkÞu÷wt Au.

2. W¥kh Ãkqðo økwshkík{kt fåA ûkuºk yu çkkufMkkEx, SÃMk{, yfef, [qLkk ÃkÚÚkh suðe ¾LkeòuÚke Mk{]Ø Au.

3. økwshkíkLke ykþhu 19.66 ÷k¾ nufxh s{eLk ðLk «Ëuþ Ähkðu Au.

4. økwshkíkLkk ËrûkýLkk rsÕ÷kyku{kt ykçkkunðk Mkqfe yLku W¥kh ûkuºk{kt ¼usðk¤e Au.

(A) {kºk 1 yLku 2 (B) {kºk 2 yLku 4

(C) {kºk 1, 2 yLku 4 (D) {kºk 1, 2 yLku 3

036. swËk swËk «fkhLke s{eLk rðþu Lke[uLkk Ãkife fÞwt rðÄkLk MkíÞ Au ?

1. fk¤e s{eLk ¼us þku»ke ÷u Au su s{eLk{ktÚke ¾qçks ykuAk Ëhu çkk»Ãke ¼ðLk fhu Au.

2. hkíke s{eLk ËuþLkk fw÷ rðMíkkhLkk ykþhu 16% rnMMkku ykðhe ÷u Au.

3. Ãkz¾kW (Laterite) s{eLk ðÄw íkkÃk{kLk yLku ðÄw ðhMkkË ðk¤k rðMíkkh{kt rðfrMkík ÚkkÞ Au.

(A) {kºk 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 1 yLku 3

037. ‘{uLkøkúwÔÍ’ çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. íku ËrhÞk rfLkkhkLku [¢ðkík íkÚkk MkwLkk{eLke yMkhÚke hûký ykÃku Au.

2. {uLkøkúwð ðLkMÃkrík ÃkkýeLke ¾kux Lkrn Úkðk Ëuðk{kt Mkh¤íkk fhe ykÃku Au.

3. íku ¾khkþ MknLkþe÷ ð]ûkku Au yLku ËrhÞkfktXkLke fXkuh ÃkrhÂMÚkrík SðLk {kxu yLkwfq¤ çkLkkðu Au.

(A) {kºk 1 (B) {kºk 1 yLku 3

(C) {kºk 2 yLku 3 (D) 1, 2 yLku 3

038. Lke[uLkk Ãkife fE òuze ÞkuøÞ heíku òuzkÞu÷e LkÚke ?

(A) hk»xÙeÞ s¤{køko 1 : øktøkkLkku yÕnkçkkË - nÂÕËÞk Ãkx

(B) hk»xÙeÞ s¤{køko 2 : çkúñÃkwºkk LkËeLkku MkkËeÞk - Äwçkúe Ãkx

(C) hk»xÙeÞ s¤{køko 3 : Ãkrù{ ËrhÞkfktXkLke Lknuh, [tÃkfhk LknuhLkku fkuèÃkwh{ - fku÷{ Ãkx

(D) hk»xÙeÞ s¤{køko 4 : çkúkñýe LkËeLkku íkÕ[h-Äúk{ Ãkx (Talcher-Dhamra stretch)

039. MkhkuðhkuLkk ¼hkðkÚke rLk{koý Ãkk{íkk {uËkLkku .......... fnuðkÞ Au.

(A) {w¾rºkfkuý {uËkLkku (Delta plains)

(B) ÃkwhLkk {uËkLkku (Flood plains)

(C) rn{LkËeLkk rLkûkuÃkÚke íkiÞkh ÚkÞu÷k {uËkLkku (Till plains)

(D) WÃkhLkk Ãkife yuf Ãký Lk®n

040. ykuÍkuLkLkwt Míkh ðkíkkðhý{kt .......... rfhýkuLkk «ðuþLku yxfkðu Au.

(A) UV - B (B) UV - A

(C) UV - C (D) Infrared (yðhõík)

041. Ãkh{kýw rhyuõxhLkk rLk{koý {kxu Lke[uLkk Ãkife fÞwt íkíð ykð~f Au ?

(A) fkuçkkÕx (B) rLkf÷

(C) ÍefkuorLkÞ{ (D) WÃkhLkk ík{k{
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035. Which of the following statements about Gujarat is/are correct?

1. Saurashtra, the Peninsular Gujarat, is bounded on three sides by waters of sea

2. The region of Kutch in the north-eastern part of Gujarat is rich in its mineral wealth like
Bauxite, gypsum, agate, limestone etc

3. Gujarat has about 19.66 lakh hectares of land under forest

4. The climate of Gujarat is dry in the southern districts and moist in the northern region

(A) 1 and 2 only (B) 2 and 4 only

(C) 1, 2 and 4 only (D) 1, 2 and 3 only

036. Which of the following statements is/are correct regarding different soils?

1. The Block soils absorbs moisture, which evaporates from the soil at a very low rate.

2. Red soils covers approximately 16% of the total area of the country

3. Laterite soils develop in areas with high temperature and High rainfall

(A) 1, 2 and 3 only (B) 2 and 3 only

(C) 1 and 2 only (D) 1 and 3 only

037. Which of the following statements is/are correct regarding ‘Mangroves’??

1. They protect the shoreline from the effect of cyclones and tsunamis

2. Mangrove vegetation facilitates no water loss

3. They are salt tolerant trees and are adapted to life in harsh coastal conditions

(A) 1 only (B) 1 and 3 only

(C) 2 and 3 only (D) 1, 2 and 3

038. Which of the following pairs is INCORRECTLY matched?

(A) National Waterway 1: Allahabad-Haldia stretch of the Ganges

(B) National Waterway 2: Sadiya-Dhubri stretch of Brahmaputra River

(C) National Waterway 3: Kottapuram-Kollam stretch of the West Coast Canal, Champakara
Canal

(D) National Waterway 4: Talcher-Dhamra stretch of the Brahmani River

039. Plains formed due to the filling up of lakes are called as _______.

(A) Delta plains

(B) Flood plains

(C) Till plains

(D) None of the above

040. Ozone layer prevents entry of which rays in the atmosphere _______.

(A) UV-B (B) UV-A

(C) UV-C (D) Infrared

041. Which of the following elements is essential for the construction of a nuclear reactor?

(A) Cobalt (B) Nickel

(C) Zirconium (D) All of the above
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042. Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. CFL yu rV÷k{uLx çkÕçk fhíkk ÷ktçkku SðLkfk¤ Ähkðu Au.

2. CFL yu hkuStËk rV÷k{uLx çkÕçk fhíkkt ðÄw ðes ðÃkhkþ fhu Au.

3. CFL yu çku ¼køk Ähkðu Au yuf ðkÞwÚke ¼hu÷e xâqçk yLku çkeòu yu [wtçkfeÞ íkw÷k¼kh (magnetic ballast)

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 1 yLku 3

043. fkøk¤Lkk xwfzk WÃkh yktøk¤eykuLkk rLkþkLkku (Finger print) þkuÄðk Lke[uLkk Ãkife þuLkku WÃkÞkuøk ÚkkÞ Au ?

(A) ûk-rfhýku (X-rays) (B) yðhõík rfhýku (Infrared rays)

(C) Ãkkhòtçk÷e rðrfhý (Ultra-Violet radiation) (D) økk{k rfhýku (Gamma rays)

044. Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. rMkrVr÷Mk (Syphilis) yu çkuõxuheÞkÚke Úkíkku [uÃk Au su òíkeÞ MktMkøko îkhk Vu÷kÞ Au.

2. yk hkuøkLke þYykík ík{khk sLkLkktøkku, økwËk{køko yÚkðk {kuZk{kt Ãkezk hrníkLkk [ktËk (Sore) Úke ÚkkÞ Au.

3. rMkrVr÷MkLkku ytrík{ íkçk¬ku yu {øks, [uíkkíktíkwyku, ykt¾ku fu ÓËÞLku LkwfMkkLk{kt Ãkrhý{e þfu Au.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) {kºk 1 yLku 2

045. rx¬k (Tikka) hkuøk Lke[uLkk Ãkife fÞk ÃkkfLku yMkh fhu Au ?

(A) fÃkkMk (B) [ku¾k

(C) {økV¤e (D) ½tW

046. Mk{k[kh{kt fux÷ef ðkh WÕ÷u¾ fhðk{kt ykðu Au íkku H5N1 rð»kkýw (Virus) yu Lke[uLkk Ãkife fÞk hkuøkLkk MktË¼o{kt nkuÞ
Au ?

(A) AIDS (B) çkzo ^÷w

(C) zuLøÞw (D) MðkELk ^÷w

047. ðkíkkðhý{kt ðkË¤kuLkk íkhðkLke ½xLkkyu íku{Lkk .......... ykuAk nkuðkLkk fkhýu nkuÞ Au.

(A) íkkÃk{kLk (B) ½Lkíkk

(C) Ëçkký (D) ðuøk

048. þeík Mktøkúnkøkkh (Cold storage) {kt Mktøkún fhu÷k V¤kuLke Sðtíkíkk ðÄu Au fkhý fu ..........

(A) ¼us ðÄu Au.

(B) íku{kt fkuE MkqÞo «fkþ nkuíkku LkÚke.

(C) CO2 Lkwt MktfuLÿý ðÄu Au.

(D) ïMkLkËh{kt ½xkzku ÚkkÞ Au. (Decreased the rate of respiration)

049. yheMkkyku rðþu Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

(A) økku÷eÞ yheMkk suLke ÃkhkðŠíkík MkÃkkxe yu çknkhLke íkhV Lkef¤u÷e nkuÞ Au íku ytíkøkkuo¤ yheMkku fnuðkÞ Au.

(B) çkrnøkkuo¤ yheMkkLkwt {wÏÞ fuLÿ yu ÃkhkðŠíkík MkÃkkxeLke ÃkkA¤ hnu÷wt nkuÞ Au.

(C) (A) íkÚkk (B) çkLLku

(D) (A) yÚkðk (B) yuf Ãký Lk®n

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



GEP-1 - A ] 15 [ P.T.O.

042. Which of the following statements is/are correct?

1. The CFL’s have longer life than filament bulbs

2. CFLs use more electricity than the regular filament bulbs

3. CFL has two parts one is gas filled tube and second one is magnetic ballast

(A) 1, 2 and 3 (B) 2 and 3 only

(C) 1 and 2 only (D) 1 and 3 only

043. Which of the following is used to detect fingerprints on a piece of paper?

(A) X-rays (B) Infra-red rays

(C) Ultra-violet radiation (D) Gamma rays

044. Which of the following statements is/are correct?

1. Syphilis is a bacterial infection usually spread by sexual contact.

2. The disease starts as a painless sore – typically on your genitals, rectum or mouth.

3. The final stage of Syphilis can result in damage to the brain, nerves, eyes or heart.

(A) 1, 2 and 3 (B) 2 and 3 only

(C) 1 and 3 only (D) 1 and 2 only

045. The Tikka disease affects which one of the following crops?

(A) Cotton (B) Rice

(C) Groundnut (D) Wheat

046. H5N1 virus is sometimes mentioned in the news with reference to which one of the following
diseases?

(A) AIDS (B) Bird Flu

(C) Dengue (D) Swine Flu

047. Floating of clouds in atmosphere is due to their lesser _______.

(A) Temperature (B) Density

(C) Pressure (D) Velocity

048. Life of fruits stored in cold storage increases because _______.

(A) Humidity increases

(B) There is no sunlight

(C) Increase the concentration of CO2

(D) Decreased the rate of respiration

049. Which of the following statements is/are correct regarding Mirrors?

(A) A spherical mirror whose reflecting surface is bulged outwards is called concave mirror

(B) The principal focus of a convex mirror lies behind the reflecting of surface

(C) Both (A) and (B)

(D) Neither (A) nor (B)
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050. huzeÞku íkhtøkku rðþu Lke[uLkk Ãkife fÞwt rðÄkLk MkíÞ Au ?

(A) hurzÞku íkhtøkkuyu MkkiÚke ÷ktçke íkhtøk ÷tçkkE Ähkðu Au su {exh yLku rf÷ku{exh{kt {kÃkðk{kt ykðu Au.

(B) ykð]r¥k ykhkun - yðhkun (Frequency Modulation - FM) rMkøLk÷ku yu ¼kiríkf yðhkuÄku îkhk «¼krðík ÚkkÞ Au.

(C) (A) íkÚkk (B) çkLLku

(D) (A) yÚkðk (B) yuf Ãký Lk®n

051. Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. Blu-ray Disc yu DVD Lkwt yãíkLk MktMfhý Au.

2. DVDs {kt Red laser ðÃkhkÞ Au ßÞkhu Blu-ray discs {kt Blue-violet rays ðÃkhkÞ Au.

3. Blu-ray Disc yu DVD fhíkkt òze (thicker) nkuÞ Au.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 1 yLku 3

052. Lke[uLkk Ãkife fÞwt yu hkMkkÞrýf ÃkrhðíkoLk LkÚke ?

(A) nðk{kt fku÷MkkLkwt ËnLk (B) þuhzeLkk hMkLkk ykÚkkLke «r¢Þk

(C) (A) íkÚkk (B) çkLLku (D) (A) yÚkðk (B) yuf Ãký Lk®n

053. Lke[uLkk Ãkife fkuLkwt çk¤íký {qÕÞ MkkiÚke Ÿ[wt Au ?

(A) nkEzÙkusLk (B) fwËhíke ðkÞw

(C) [khfku÷ (fku÷Mkku) (D) WÃkhLkk Ãkife yuf Ãký Lk®n

054. Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. yktíkhhk»xÙeÞ yðfkþ {Úkf (International Space Station) yu Ãk]ÚðeLke Lke[÷e ¼ú{ý fûkk{kt Au.

2. Ãk]ÚðeLke Lke[÷e ¼ú{ý fûkk yu Ãk]ÚðeLkk Vhíke yu ¼ú{ý fûkk Au fu suLke Ÿ[kE 160 rf{e Úke 2000 rf{eLke ðå[u Au.

3. Ãk]ÚðeLke Lke[÷e ¼ú{ý fûkkLkku ¼ú{ý Mk{Þ økk¤ku 30 yLku 60 r{LkexLke ðå[u Au.

(A) {kºk 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 1 yLku 3

055. su ÷kufku økheçke hu¾kLke Lke[u Au íku{Lku økheçke hu¾k MkwÄe Ÿ[u ÃknkU[kzðk {kxu sYh fw÷ ykðfLke hf{ yu ..........
fnuðkÞ Au.

(A) MkkÃkuûk økheçke ytíkh (Relative Poverty gap) (B) fw÷ økheçke ytíkh (Total Poverty gap)

(C) yktrþf økheçke ytíkh (Partial Poverty gap) (D) ð¤íkh økheçke ytíkh (Compensatory Poverty gap)

056. Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

(A) ÔÞkÃkkhe çkUfku ÃkkMku ÷kuLk îkhk yLku ò{eLkøkeheyku (Securities) ¾heËeLku þk¾ Q¼e fhðkLke ûk{íkk Au.

(B) ÔÞkÃkkhe çkUfku îkhk þk¾ rLkÞtºký ÚkE þfu Au.

(C) (A) íkÚkk (B) çkLLku

(D) (A) yÚkðk (B) yuf Ãký Lk®n
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050. Which of the following statements is/are correct regarding Radio waves?

(A) Radio waves have the longest wavelength, they are measured in meters and Kilometers

(B) Frequency Modulation (FM) signals are impacted by the Physical barriers

(C) Both (A) and (B)

(D) Neither (A) nor (B)

051. Which of the following statements is/are correct?

1. Blu-ray Disc is the advanced version of DVD

2. Red lasers are used in DVDs, whereas Blue-violet rays are used in Blu Ray discs

3. Blu-ray disc is thicker than a DVD.

(A) 1, 2 and 3 (B) 2 and 3 only

(C) 1 and 2 only (D) 1 and 3 only

052. Which of the following is not a Chemical change?

(A) Burning of coal in Air (B) Fermentation of Sugarcane juice

(C) Both (A) and (B) (D) Neither (A) nor (B)

053. Which one of the following has the highest fuel value?

(A) Hydrogen (B) Natural gas

(C) Charcoal (D) None of the above

054. Which of the following statements is/are correct?

1. The International Space Station is in the Lower Earth Orbit

2. The Lower Earth Orbit is an orbit around earth with an altitude between 160 km to 2000 km

3. The orbital period in Lower Earth Orbit is between 30 and 60 minutes

(A) 1, 2 and 3 (B) 2 and 3 only

(C) 1 and 2 only (D) 1 and 3 only

055. The total amount of income required to uplift all those who are below poverty line to reach upto
poverty line is called as _______.

(A) Relative Poverty gap (B) Total Poverty gap

(C) Partial Poverty gap (D) Compensatory Poverty gap

056. Which of the following statements is/are correct?

(A) Commercial banks have capacity to create credit by advancing loans and purchasing securities

(B) Credit control can be done by commercial banks

(C) Both (A) and (B)

(D) Neither (A) nor (B)
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057. Lke[uLkk Ãkife fÞk yu ÔÞkÃkkh Mkh¤e fhý Mkq[fktfLkk Ãkrh{kýku Au ?

1. Äehký {u¤ððwt

2. hkufkýfkhkuLkwt hûký fhðwt

3. r{÷fíkLke LkkUÄýe

4. ðMíkerð»kÞf Ãkrh{kýku

5. ÔÞðMkkÞLkk rLkÞ{ku{kt ÃkkhËŠþíkk

(A) 1, 2, 3, 4 yLku 5 (B) {kºk 2, 4, 5

(C) {kºk 1, 2, 3 yLku 4 (D) {kºk 1, 2 yLku 5

058. Lke[uLkk Ãkife fÞku yu ykiãkurøkf WíÃkkËLkLkku Mkq[fktf Au ?

(A) LkVk Mkq[fktf (B) {qÕÞ Mkq[fktf

(C) LkkýktfeÞ Mkq[fktf (D) sÚÚkk (Volume) Mkq[fktf

059. Mahalanobis {kuzu÷ yu .......... Lke MÚkkÃkLkk Ãkh ¼kh {qfu Au.

(A) ðÃkhkþe [eòuLkk Wãkuøkku (B) rLkfkMk÷ûke Wãkuøkku

(C) f]r»k ykÄkheík Wãkuøkku (D) {qze yLku {q¤¼qík {k÷ Wãkuøkku

060. .......... çkuhkusøkkhe íÞkhu WËT¼ðu ßÞkhu fux÷kf fk{Ëkhku yu Lkkufhe çkË÷íke ð¾íku fk{[÷kW heíku çkuhkusøkkh hnu.

(A) [¢eÞ (Cyclical) (B) yMÚkkÞe (Frictional)

(C) {kuMk{e (Seasonal) (D) MðiÂåAf (Voluntary)

061. Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. fw÷ {nuMkq÷e ¾[o fhíkk fw÷ {nuMkq÷e ykðf{kt ½xkzku yu {nuMkq÷e ¾kã íkhefu ÔÞkÏÞkrÃkík fhðk{kt ykðu Au.

2. hksfku»keÞ ¾kã yu LkkýkfeÞ ð»ko{kt Ëuðk (WAeLkk Lkkýk) rMkðkÞLkk fw÷ ytËksÃkºkeÞ ykðf Ãkh fw÷ ytËksÃkºkeÞ
¾[oLkku ðÄkhku Ëþkoðu Au.

3. ÔÞðMkkÞ{kt Eõðexe Mkfkhkí{f ÚkkÞ íÞkhu {qze ¾kíkkLke ¾kã ÚkkÞ Au.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) {kºk 1 yLku 2

062. Lke[uLkk Ãkife fÞwt yu ¼khík MkhfkhLke Housing for all by 2022 (2022 MkwÄe{kt ík{k{Lku {kxu hnuXký) ÞkusLkkLkku
ytøk¼qík ¼køk LkÚke ?

1. s{eLkLkku Mºkkuík íkhefu WÃkÞkuøk fheLku ¾kLkøke rðfkMkfíkkoykuLke ¼køkeËkheÚke, ÍwtÃkzÃkèe ðkMkeykuLke ÍwtÃkzÃkèeLkwt ÃkwLkðoMkLk

2. ¢uzex ÷ªõz MkçkMkeze îkhk Lkçk¤k ðøko {kxu Ãkhðzu íkuðk hnuXkýkuLku «kuíMkknLk

3. ònuh yLku ¾kLkøke ûkuºkLke ¼køkeËkhe{kt Ãkhðzu íkuðk hnuXkýku

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) WÃkhLkk Ãkife yuf Ãký Lk®n

063. fkuE ËuþLkk [÷ýLkwt yð{qÕÞLk íÞkhu ÚkkÞ Au ßÞkhu ..........

1. [÷ýLkwt {qÕÞ ðÄu Au.

2. [÷ýLkwt {qÕÞ ½xu Au.

3. [qfðýe Mktíkw÷Lk (Balance of payment) MkwÄhu Au.

(A) {kºk 1 yLku 3 (B) {kºk 1 yLku 2

(C) {kºk 2 (D) 1, 2 yLku 3
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057. Which of the following are the parameters of Ease of doing Business Index?

1. Getting credit
2. Protecting investors
3. Registering property
4. Demographic parameters

5. Transparency in business regulations
(A) 1, 2, 3, 4 and 5 (B) 2, 4 and 5 only
(C) 1, 2, 3 and 4 only (D) 1, 2 and 5 only

058. Which of the following is the index of Industrial production?

(A) Profit index (B) Value index
(C) Monetary index (D) Volume index

059. Mahalanobis model stressed upon the establishment of _______.
(A) Consumer goods industries (B) Export oriented industries

(C) Agro-based industries (D) Capital and basic goods industries
060. _______ unemployment may result when some workers are temporarily out of work while

changing job
(A) Cyclical (B) Frictional
(C) Seasonal (D) Voluntary

061. Which of the following statements is/are correct?
1. The shortfall of total revenue receipts compared to total revenue expenditure is defined as

revenue deficit.
2. Fiscal deficit is excess of total budget expenditure over total budget receipts excluding

borrowings during a fiscal year.
3. A capital account deficit occurs when the equity in a business turns positive.

(A) 1, 2 and 3 (B) 2 and 3 only
(C) 1 and 3 only (D) 1 and 2 only

062. Which of the following are NOT the components of Government of India scheme Housing for
all by 2022?
1. Slum rehabilitation of Slum Dwellers with participation of private developers using land as

a resource

2. Promotion of affordable housing for weaker section through credit linked subsidy.
3. Affordable housing in partnership with Public & Private sectors
(A) 1, 2 and 3 (B) 2 and 3 only
(C) 1 and 2 only (D) None of the above

063. Currency of a country depreciates when _______.
1. The value of the currency increases
2. The value of the currency decreases
3. The balance of payments improves

(A) 1 and 3 only (B) 1 and 2 only
(C) 2 only (D) 1, 2 and 3
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064. Lke[uLkk Ãkife fE MktMÚkkyu “Agricultural Marketing and Farmer Friendly Reforms Index” þY fÞko Au ?

(A) f]r»k yLku ¾uzqík fÕÞký {tºkk÷Þ

(B) NITI ykÞkuøk
(C) NABARD
(D) WÃkhLkk Ãkife yuf Ãký Lk®n

065. fuLÿeÞ çksux{kt Lke[uLkk ÃkifeLke fE çkkçkík yu rçkLk ÞkusLkkfeÞ ¾[o{kt Mk{krðü ÚkkÞ Au ?

1. Mkthûký ¾[o       2. ÔÞksLke [qfðýe       3. Ãkøkkh yLku ÃkuLþLk       4. MkçkMkeze

(A) {kºk 1 (B) {kºk 2 yLku 3

(C) 1, 2 yLku 3 (D) 1, 2, 3 yLku 4

066. {kLkð rðfkMk Mkq[fktf{kt Lke[uLkk Ãkife fÞk Mkq[fktfkuLkku WÃkÞkuøk ÚkkÞ Au ?

1. SðLk Äkuhý       2. rþûký       3. yÃkurûkík ykÞw»Þ       4. ÃkÞkoðhýLke ÃkrhÂMÚkík

(A) {kºk 1, 2 yLku 4 (B) {kºk 1, 2 yLku 3

(C) {kºk 3 yLku 4 (D) 1, 2, 3 yLku 4

067. ¼khíkLke hk»xÙeÞ ykðf yu .......... Lke {ËËÚke {kÃkðk{kt ykðu Au.

(A) WíÃkkËLk ÃkØrík (B) ykðf ÃkØrík

(C) ¾[o ÃkØrík (D) WÃkhLkk ík{k{

068. Lke[uLkk Ãkife fÞku/fÞk yu Atal Tinkering Labaratories Lkk nuíkwyku LkÚke ?

1. Neoteric Innovation (ykÄwrLkf LkðeLkfkh) íkhefu ¼khík{kt ËMk ÷k¾ çkk¤fku fu¤ððk

2. Lkðk MkuðLk fuLÿkuLke MÚkkÃkLkk

3. Þwðk rË{køk{kt S¿kkMkk, MksoLkkí{õíkk yLku fÕÃkLkkþÂõíkLkku WAuh fhðku.

4. rzÍkELk {kLkrMkõíkk, økkrýríkf rð[khMkhýe, yLkwfq÷Lkþe÷ rþûký íkÚkk ¼kiríkf fkuBÃÞwxªøk suðe fwþ¤íkk Mk{krðü
Au.

(A) {kºk 1, 3 yLku 4 (B) {kºk 2

(C) {kºk 1 (D) {kºk 2 yLku 4

069. MktMkËLkk økúnkuLke MktÞwõík çkuXf çkku÷kððk ytøkuLke hk»xÙÃkríkLke Mk¥kkLke çkkçkík{kt Lke[uLkk Ãkife fÞwt rðÄkLk MkíÞ Au ?

(A) Lkkýk rðÄuÞf WÃkh yMkt{ríkLkk rfMMkk{kt çkku÷kððk{kt ykðu Au.

(B) çktÄkhýeÞ MkwÄkhýk rðÄuÞf Ãkh {zkøkktXLkk rfMMkk{kt çkku÷kððe yrLkðkÞo çkLke òÞ Au.

(C) fkuE rðÄuÞf ßÞkhu yuf øk]n îkhk {tsqh fhe Ëuðk{kt ykÔÞw nkuÞ yLku yÞ øk]n îkhk Lkk {tsqh fhðk{kt ykÔÞw nkuÞ
íÞkhu çkku÷kððk{kt ykðu Au.

(D) hk»xÙÃkrík MktMkËLke MktÞwõík çkuXfLkk yæÞûk nkuÞ Au.

070. ¼khíkLkk çktÄkhý{kt fxkufxeLke òuøkðkEyku çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. fxkufxeLke òuøkðkEyku yu ¼khíkLkk çktÄkhý{kt XVIII {kt ¼køk{kt Mk{krðü Au.

2. ßÞkhu ¼khíkLke fu íkuLkk fkuE «ËuþLke Mk÷k{íke ÞwØ îkhk fu çkkÌk yk¢{ý fu MkuLkkfeÞ çk¤ðk îkhk ¾íkhk{kt nkuÞ íÞkhu
hk»xÙÃkrík yLkwåAuË 352 ytíkøkoík hk»xÙeÞ fxkufxe ònuh fhe þfu Au.

3. yLkwåAuË 352 nuX¤ ònuh fhðk{kt ykðu÷e fxkufxe yu íkuLku òhe fhðkLke íkkhe¾Úke ºký {rnLkk{kt MktMkËLkk çktLku øk]nku
îkhk {tsqh fhðk{kt ykððe òuEyu.

(A) 1, 2 yLku 3 (B) {kºk 1 yLku 2

(C) {kºk 1 yLku 3 (D) {kºk 2 yLku 3
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064. Which of the following institution have launched “Agricultural Marketing and Farmer Friendly
Reforms Index”?

(A) Ministry of Agriculture and Farmers welfare
(B) NITI Aayog
(C) NABARD
(D) None of the above

065. Which of the following items are covered under non plan expenditure in Union budget?
1. Defence expenditure       2. Interest payments       3. Salaries and pensions       4. Subsidies
(A) 1 only (B) 2 and 3 only
(C) 1, 2 and 3 (D) 1, 2, 3 and 4

066. Which of the following indicators are used in the calculation of Human Development Index?
1. Standard of living       2. Education       3. Life expectancy       4. Condition of environment
(A) 1, 2 and 4 only (B) 1, 2 and 3 only
(C) 3 and 4 only (D) 1, 2, 3 and 4

067. India’s National Income is measured with the help of _______.
(A) Product Method (B) Income Method
(C) Expenditure Method (D) All of the above

068. Which of the following is/are NOT the objectives of Atal Tinkering Laboratories?

1. Cultivate one Million children in India as Neoteric Innovators
2. The establishment of new incubation centers
3. To foster curiosity, creativity and imagination in young minds
4. Include skills such as design mindset, computational thinking, adaptive learning, physical

computing etc.

(A) 1, 3 and 4 only (B) 2 only
(C) 1 only (D) 2 and 4 only

069. Which of the following is correct regarding the President’s power to summon the Houses of the
Parliament for a joint session?
(A) Summoned in case of disagreements on a Money bill

(B) Becomes inevitable in case of deadlock on a Constitution Amendment bill
(C) Called when a bill has been passed by one House and rejected by other House
(D) President chairs the joint session of the Parliament

070. Which of the following statements is/are correct regarding Emergency provisions in Indian
Constitution?

1. The Emergency provisions are contained in part XVIII of the Indian constitution
2. Under Article 352, the President can declare a national emergency when the security of India

or a part of it is threatened by war or external aggression or armed rebellion
3. The proclamation of Emergency under Article 352 must be approved by both the Houses of

Parliament within three months from the date of its issue
(A) 1, 2 and 3 (B) 1 and 2 only

(C) 1 and 3 only (D) 2 and 3 only
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071. hkßÞ ÃkwLkøkoXLk ykÞkuøk çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk MkíÞ Au ?

1. hkßÞ ÃkwLkøkoXLk ykÞkuøk yu ¼khík Mkhfkh îkhk rzMkuBçkh 1953{kt MÚkkÃkðk{kt ykÔÞwt níkwt.

2. ykÞkuøku íkuLkku ynuðk÷ MkÃxuBçkh 1955 {kt MkkUÃÞku yLku ¼k»kkLku hkßÞkuLkk ÃkwLkøkoXLkLkkt ykÄkh íkhefu ÔÞkÃkf heíku
MðefkÞkuo.

3. ykÞkuøku ‘yuf ¼k»kk yuf hkßÞ’Lkk rMkØktíkLkku yMðefkh fÞkuo.

(A) {kºk 1 yLku 2 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) 1, 2 yLku 3

072. ¼khík-[eLk MktçktÄku çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLkku MkíÞ Au ?

1. ¼khík yLku [eLk yuf çkeò MkkÚku Wr[ík {kºkk{kt MktçktÄku MkkÚku çku sqLke MktMf]ríkykuLkwt «ríkrLkrÄíð fhu Au yLku 1962 Lkk
ÞwØ Ãknu÷k þºkwíkkLke fkuE rðøkíkku LkÚke.

2. ¼khík yu [eLkLkk hk»xÙeÞ Mkt½»ko yLku 1949 ÃkAeLkk íkuLkk UNO Lkk MkÇÞ ÃkËLke çkkçkíkLku xufku ykÃkíkwt níkwt.

3. ¼khík yu Shanghai Co-operation organization Lkku MkÇÞ Ëuþ Au.

(A) {kºk 1 yLku 2 (B) 1, 2 yLku 3

(C) {kºk 2 yLku 3 (D) {kºk 1 yLku 3

073. Lke[uLkk Ãkife fE çkkçkík yu Mkðkuoå[ yËk÷íkLkk {q¤ ûkuºkkrÄfkh{kt Mk{krðü Au ?

(A) ¼khík Mkhfkh íkÚkk yuf fu yufÚke ðÄw hkßÞku ðå[uLkku rððkË

(B) MktMkËLkk fkuEÃký øk]nLke yÚkðk hkßÞLkk rðÄkLkMk¼kLke [qtxýe çkkçkíku rððkË

(C) ¼khík Mkhfkh yLku fuLÿþkrMkík «Ëuþ ðå[uLkku rððkË

(D) çku fuLÿ þkrMkík «Ëuþku ðå[uLkku rððkË

074. Lkkýkt rðÄuÞf çkkçkíku Lke[uLkk Ãkife fÞwt/fÞk rðÄkLk MkíÞ LkÚke ?

(A) Lkkýk rðÄuÞf yu hkßÞ Mk¼k{kt Ëk¾÷ ÚkE þfu Lk®n.

(B) íku ÷kufMk¼k{kt {tsqh ÚkÞk çkkË hkßÞMk¼k{kt {kuf÷ðk{kt ykðu Au.

(C) hkßÞMk¼k yu íkuLke ¼÷k{ýku MkkÚku ºkeMk rËðMkLke yðrÄ{kt rçk÷ Ãkhík {kuf÷u Au.

(D) òu ÷kufMk¼k yu hkßÞMk¼kLke fkuEÃký ¼÷k{ýkuLkku Mðefkh Lk fhu íkku LkkýkrðÄuÞf yu {tsqh ÚkE [qõÞwt Au íku{
økýðk{kt ykðu Au.

075. økúk{ Mk¼k çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk MkíÞ LkÚke ?

(A) yLkwåAuË 40 yu MÚkkrÃkík fhu Au fu hkßÞLkeríkLkk {køko Ëþof rMkØktíkkuLkk ¼køkYÃku hkßÞyu økúk{ Ãkt[kÞíkkuLkk økXLk
{kxu fkÞoðkne fhþu.

(B) ‘økúk{Mk¼k’ yÚkkoík økk{Lke {íkËkh ÞkËe{kt LkkUÄkÞu÷e ÔÞÂõíkykuLke çkLku÷e MktMÚkk.

(C) ¼khíkLkk çktÄkhýLkku yLkwåAuË 243A yu økúk{Ãkt[kÞíkLkk fkÞkuo rðþuLke rðøkík ykÃku Au.

(D) WÃkhLkk Ãkife yuf Ãký Lk®n

076. ¼khík{kt Ãkt[kÞíke hks MktMÚkkLkk rðMksoLk çkkË íkuLke Lkðe [qtxýeLke Mk{Þ {ÞkoËk fux÷e Au ?

(A) yuf ð»koLke ytËh (B) Lkð {kMkLke ytËh

(C) A {kMkLke ytËh (D) ºký {kMkLke ytËh

077. LÞkÞk÷Þ ykËuþ (Writs) îkhk Lkkøkrhf yrÄfkhkuLkk hûký {kxu Lke[uLkk Ãkife fE çkkçkík yu çktÄkhýeÞ E÷kòuLkku
yrÄfkh LkÚke ?

(A) Habeas Corpus (çktËe «íÞûkefhý) (B) Prohibition («ríkðuÄ)

(C) Injunction ({LkkE nwf{) (D) Certiorari (Wí«u»ký)
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071. Which of the following statements are correct regarding State Reorganization Commission?
1. The State Reorganization Commission was formulated by Government of India in December,

1953
2. The Commission submitted its report in September 1955 and broadly accepted language as

the basis of reorganization of state
3. The Commission rejected the theory of ‘One language One State’
(A) 1 and 2 only (B) 2 and 3 only
(C) 1 and 3 only (D) 1, 2 and 3

072. Which of the following statements are correct regarding India-China Relations?
1. India and China representing two ancient civilizations with a fair degree of contact with each

other and no record of hostilities before 1962 war
2. India was supportive of China’s national struggle and after 1949 of its membership in UNO
3. India is a member country of Shanghai Cooperation Organization
(A) 1 and 2 only (B) 1, 2 and 3
(C) 2 and 3 only (D) 1 and 3 only

073. Which of the following are included in the original jurisdiction of the supreme court?
(A) A dispute between the government of India and one or more states
(B) A dispute regarding elections to either house of parliament or that of legislature of a state
(C) A dispute between the government of India and a union territory
(D) A dispute between two union territories

074. Which of the following statements is/are INCORRECT regarding money bill?
(A) A money bill shall not be introduced in the council of states
(B) After it is passed in the house of the people, it shall be transmitted to the council of states
(C) Council of state shall return the bill its recommendations within a period of thirty days
(D) If the house of the people does not accept any of the recommendations of the council of states, the

money bill shall be deemed to have been passed
075. Which of the following statements is/are INCORRECT regarding Grama Sabha?

(A) Article 40 enshrines that the State shall take steps to organise village panchayats as part of
Directive Principles of State Policy.

(B) Gram Sabha” means a body consisting of persons registered in the electoral rolls relating to a
village

(C) Article 243 A of the Indian constitution lays down the functions of Village panchayats.
(D) None of the above

076. What is the time frame to have a fresh election to Panchayat Raj Institutions in India on its
dissolution?
(A) Within one year (B) Within Nine months
(C) Within Six months (D) Within Three months

077. Which one of the following is NOT the Right to Constitutional Remedies for the protection of
civil rights by means of writs?
(A) Habeas Corpus (B) Prohibition
(C) Injunction (D) Certiorari
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078. ¼khíkLkk çktÄkhý WÃkh yLÞ çktÄkhýkuLke yMkh çkkçkíku Lke[uLkk Ãkife fE òuze ÞkuøÞ heíku òuzkÞu÷e LkÚke ?

(A) yuf LkkøkrhfíðLkku ÏÞk÷ - ÞwLkkExuz ®føz{

(B) MkhfkhLkwt Mkt½eÞ çktÄkhý - ÞwLkkExuz MxuxTMk

(C) {q¤¼qík Vhòu - fuLkuzk

(D) hkßÞLkeríkLkk {køkoËþof rMkØktíkku - ykÞ÷uoLz

079. ¼khíkLkk Comptrollor and Auditor General (CAG) çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. CAG Lkku Ãkøkkh yu Mkðkuoå[ yËk÷íkLkk LÞkÞkÄeþLkk Ãkøkkh sux÷ku nkuÞ Au.

2. CAG yu The Comproller and Auditor General Lke (Vhòu, Mk¥kkyku yLku MkuðkLke þhíkku) MkwÄkhýk yrÄrLkÞ{
1971 yLkwMkkh fkÞo fhu Au.

3. su ÃkØríkÚke yLku ykÄkhkuÚke Mkðkuoå[ yËk÷íkLkk LÞkÞkÄeþLku íkuLkk nkuÆk WÃkhÚke Ëqh fhe þfkÞ Au. íku s heíku CAG Lku
íkuLkk nkuÆk ÃkhÚke Ëqh fhe þfkÞ Au.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 1 yLku 3

080. yrðïkMkLke Ëh¾kMík çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk MkíÞ Au ?

1. ¼khíkLkk çktÄkhý{kt rðïkMk fu yrðïkMkLke Ëh¾kMík çkkçkíkLkku WÕ÷u¾ LkÚke.

2. yrðïkMkLke Ëh¾kMík MktMkËLkk fkuEÃký øk]n{kt Ëk¾÷ fhe þfkÞ Au.

3. òu 50 MkÇÞku Ëh¾kMíkLku xufku ykÃku íkku yæÞûk îkhk yrðïkMkLke Ëh¾kMík økúkÌk økýðk{kt ykðu Au.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 1 yLku 3

081. ‘Mkt½ ÷kuf Mkuðk ykÞkuøk (Union Public Service Commission - UPSC)’Lkwt çktÄkhý .......... îkhk rLkÄkorhík
fhðk{kt ykðu Au.

(A) ¼khíkLkk hk»xÙÃkrík

(B) MktMkË

(C) ¼khíkLkk {wÏÞ LÞkÞk{qŠík MkkÚku Ãkhk{þoLk fÞko çkkË hk»xÙÃkrík

(D) yuf Ãký Lk®n

082. Central Administrative Tribunal (CAT) .......... WÃkh íkuLkk ûkuºkkrÄfkhLkku WÃkÞkuøk fhu Au.

1. yr¾÷ ¼khíkeÞ Mkuðkyku

2. fuLÿeÞ {w÷fe Mkuðkyku

3. Mkðkuoå[ yËk÷íkLkk yrÄfkhe yLku Mkuðk f{eoyku

4. MktMkËeÞ Mkr[ðk÷ÞLkku f{o[kheøký

5. Mkthûký MkuðkykuLkk Lkkøkrhf f{o[kheyku.

(A) {kºk 1, 2 yLku 3 (B) {kºk 2, 3, 4 yLku 5

(C) {kºk 1, 2 yLku 5 (D) 1, 2, 3, 4 yLku 5

083. ÷kuf «ríkrLkrÄíð yrÄrLkÞ{, 1951 ytíkøkoík fkuE MktMkË MkÇÞ økuh÷kÞf Au fu Lkrn íku çkkçkík{kt fkuLkku rLkýoÞ yk¾he
nkuÞ Au ?

(A) hk»xÙÃkrík (B) ðze yËk÷ík

(C) Mkðkuoå[ yËk÷ík (D) ¼khíkLkwt [qtxýe Ãkt[
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078. Which one of the following pairs is INCORRECTLY matched about the influence of other
Constitutions over Indian Constitution?

(A) Concept of Single Citizenship - United Kingdom

(B) Federal structure of Government - United States

(C) Fundamental Duties - Canada

(D) Directive Principles of State Policy - Ireland

079. Which of the following statements is/are correct regarding Comptroller and Auditor General
of India (CAG)?

1. The salary of CAG is equal to the salary of the Judge of the Supreme Court.

2. The CAG works according to the The comptroller and auditor general’s (Duties, Powers and
Conditions of Service) Amendment ACT, 1971

3. CAG will be removed from office in like manner and on like grounds as a Judge of the
Supreme Court.

(A) 1, 2 and 3 (B) 2 and 3 only

(C) 1 and 2 only (D) 1 and 3 only

080. Which of the following statements is/are correct regarding No Confidence Motion?

1. The Constitution of India does not mention about either a Confidence or a No Confidence
Motion.

2. No Confidence motion can be introduced in either house of the parliament.

3. No confidence motion can be admitted by the speaker if 50 members support the motion.

(A) 1, 2 and 3 (B) 2 and 3 only

(C) 1 and 2 only (D) 1 and 3 only

081. The composition of ‘Union Public Service Commission (UPSC) is determined by _______

(A) President of India

(B) Parliament

(C) President after consultation with Chief Justice of India

(D) None of the above

082. The Central Administrative Tribunal (CAT) exercises it jurisdiction over _______.

1. All-India services

2. Central civil services

3. Officers and servants of the Supreme Court

4. Secretarial staff of the Parliament

5. Civilian employees of defense services

(A) 1, 2 and 3 only (B) 2, 3, 4 and 5 only

(C) 1, 2 and 5 only (D) 1, 2, 3, 4 and 5

083. On a question whether a Member of Parliament (MP) is subject to any of the disqualification
under Representation of People’s Act, 1951 whose decision is final?

(A) President (B) High court

(C) Supreme court (D) Election commission of India
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084. ¼khíkLkwt Lke[uLkk Ãkife fÞwt Bus Rapid Transit System (BRTS) Lkuxðfo yu MkkiÚke ÷ktçkk BRTS Lkuxðfo íkhefu Mðef]ík
ÚkÞu÷ Au ?

(A) Mkwhík (B) niËhkçkkË

(C) sÞÃkwh (D) rËÕne

085. World wide fund yLkwMkkh, 2050 MkwÄe{kt ¼khíkLkk 30 þnuhku s¤ Mk{MÞkLkku Mkk{Lkku fhþu yk 30{k ¼khíkLkwt
.......... þnuh yu xku[Lkk ¢{ Ãkh Au.

(A) y{ËkðkË (B) sÞÃkwh

(C) niËhkçkkçkË (D) [uLLkkE

086. ‘State of food and Agriculture 2020’ yLkwMkkh ¼khíkLkku «íÞuf .......... Lkkøkrhf yu s¤ íkýkð nuX¤ Au.

(A) çkeòu (2nd) (B) Aêku (6th)

(C) Ãk[kMk{ku (50th) (D) Mkku {ku (100th)

087. fuBçkúes þçËfkuþ yu .......... þçËLku ð»ko 2020Lkk þçË íkhefu Lkk{ktrfík fÞkuo Au.

(A) COVID (B) y¤økkÃkýwt (Isolation)

(C) Mkk{krsf ytíkh (Social Distance) (D) MktMkøko rLk»kuÄ (Quarantine)

088. International Farm Companison Network yLkwMkkh, AMUL yu rðï{kt .......... ¢{Lkku MkkiÚke ðÄw ËqÄ
«r¢Þf (Milk processor) íkhefu W¼he ykðu÷ Au.

(A) çkeòu (2nd) (B) ykX{ku (8th)

(C) ºkeò (3rd) (D) Lkð{k (9th)

089. ¼khíkeÞ Lkki MkuLkk yu .......... Ëuþ ÃkkMkuÚke SMASH 2000 anti drone system ¾heËðkLkk fhkhLku MkwrLkrùík fÞko Au.

(A) EÍhkE÷ (B) hrþÞk

(C) USA (D) UK

090. ¼khíkLkwt Lke[uLkk Ãkife fÞwt hkßÞ/fuLÿ þkrMkík «Ëuþ yu 100% fkçkorLkf (organic) hkßÞ/fuLÿ þkrMkík «Ëuþ çkLÞwt Au ?

(A) rMkr¬{ (B) ÷ûkrîÃk

(C) {u½k÷Þ (D) yktËk{kLk yLku rLkfkuçkkh rîÃk Mk{wn

091. íkksuíkh{kt DRDO îkhk Joint Venture Protective Corbine (JVPC) Lkwt íkkuÃk Ãkrhûký fhðk{kt ykðu÷ Au. íku
çkkçkík{kt Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

1. yk yuf ðkÞw Mkt[kr÷ík semi bull-pup Mð[kr÷ík þMºk Au.

2. íkuLkku rðMíkkh 10 rf{e yLku íku yuf r{rLkxLkk 1000 hkWLz íkkuÃk{khku fhe þfu Au.

3. yk íkkuÃk çktËqf yu EÍhkE÷Lke MknkÞÚke rðfMkkððk{kt ykðe Au.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 (D) {kºk 1 yLku 3

092. EhkLkLkk [kçkúknkh (Chabrahar) çktËhLkk MktÞwõík WÃkÞkuøk çkkçkíku [[ko fhðk {kxu Mkki«Úk{ ðkh rºkÃkûkeÞ fkÞofkhe
sqÚk {exªøk ÞÚkkÚko heíku (Virtually) ¼khík, EhkLk yLku .......... Ëuþ ðå[u ÞkuòE.

(A) WÍçkurfMíkkLk (B) fÍkfMíkkLk

(C) íkwfo{uLkeMíkkLk (D) hrþÞk
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084. Which of the following Bus Rapid Transit System (BRTS) networks of India has recognized as
longest BRTS network?

(A) Surat (B) Hyderabad

(C) Jaipur (D) Delhi

085. According to the World Wide fund, 30 Indian cities will face Water Risk by 2050, _______ city
of India going to top in these 30.

(A) Ahmedabad (B) Jaipur

(C) Hyderbabd (D) Chennai

086. According to the “state of Food and Agriculture 2020” every _______ citizen of India is under water
stress.

(A) 2nd (B) 6th

(C) 50th (D) 100th

087. The Cambridge dictionary named _______ word as word of the year 2020.

(A) COVID (B) Isolation

(C) Social Distance (D) Quarantine

088. According to International Farm Comparison Network, AMUL has emerged as _______ largest
milk processor of the world.

(A) 2nd (B) 8th

(C) 3rd (D) 9th

089. Indian navy has finalized the agreement to purchase the SMASH 2000 anti drone system from
_______ country.

(A) Israel (B) Russia

(C) USA (D) UK

090. Which of the following States/Union Territories becomes India’s first 100% organic state/union
territory?

(A) Sikkim (B) Lakshadweep

(C) Meghalaya (D) Andaman and Nicobar Islands

091. Which of the following statements is/are correct regarding recently test fired the Joint Venture
Protective Carbine (JVPC) by DRDO?

1. This is a gas operated semi bull-pup automatic weapon

2. It has a range of 10 kms and fires 1000 rounds per minute

3. This is artillery gun developed with the support of Israel

(A) 1, 2 and 3 (B) 2 and 3 only

(C) 1 only (D) 1 and 3 only

092. The first trilateral working group meeting was held virtually between India, Iran and _______
to discuss the joint use of Chabrahar port in Iran?

(A) Uzbekistan (B) Kazakhstan

(C) Turkmenistan (D) Russia
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093. Lke[uLkk Ãkife fE òuze/òuzeyku ÞkuøÞ heíku òuzkÞu÷e Au ?

1. INS rn{økehe – Stealth Frigate (Stealth ÞwØ snks)

2. Sujeet – offshore Patrol Vessel (ËrhÞkfktXkÚke Ëqh ÃkuxÙku÷ªøkLkwt snks)

3. Saksham – Submarine (Mkçk{heLk)

(A) 1, 2 yLku 3 (B) {kºk 1 yLku 2

(C) {kºk 2 yLku 3 (D) {kºk 1 yLku 3

094. íkksuíkh{kt þY fhðk{kt ykðu÷k rðïLkk MkkiÚke {kuxk ÃkwLk: «kÃÞ Qòo Ãkkfo çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku
MkíÞ Au ?

1. yk Ãkkfo 72,600 nuõxh ûkuºk{kt rðMíkhu÷ku Au.

2. yk ÃkkfoLke ûk{íkk ykþhu 1,00,000 {uøkkðkuxLke Au.

3. yk Ãkkfo Mkkih yLku ÃkðLk Qòo çkLLkuLkku WÃkÞkuøk fhþu.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 1 yLku 3

095. Lke[uLkk Ãkife fÞk Ëuþu íkuLkk Lkki MkiLÞ{kt ¼khíkLkk Mkçk{heLk INS ®MkÄwðehLkku Mk{kðuþ fhu÷ Au ?

(A) ©e÷tfk (B) ÚkkE÷uLz

(C) çkktøk÷kËuþ (D) WÃkhLkk Ãkife yuf Ãký Lk®n

096. Ërûký [eLk Mk{wÿ{kt PASSEX Naval exercise 2020 .......... îkhk nkÚk Ähðk{kt ykðe.

(A) [eLk yLku òÃkkLk (B) òÃkkLk yLku rðÞuxLkk{

(C) rðÞuxLkk{ yLku ¼khík (D) rðÞuxLkk{ yLku [eLk

097. ¼khíkLke Mkki«Úk{ r÷rÚkÞ{ heVkELkhe .......... hkßÞ{kt MÚkkÃkðk{kt ykðþu.

(A) økwshkík (B) hksMÚkkLk

(C) {æÞ«Ëuþ (D) fýkoxf

098. íkksuíkh{kt þY fhðk{kt ykðu÷e ¼khíkLke Mkki«Úk{ MðËuþe çkLkkðxLke hMke ‘Pneumosil’ yu .......... hkuøk Mkk{u Au.

(A) ûkÞ hkuøk (Tuberculosis) (B) {÷urhÞk

(C) zuLøÞw (D) WÃkhLkk Ãkife yuf Ãký Lk®n

099. «ÄkLk{tºke ©e {kuËeyu Mkki«Úk{ ðkh zÙkEðh rðLkk Mkt[kr÷ík xÙuLkLkwt ËuþLkk .......... þnuh{kt WËT½kxLk fÞwO.

(A) [uLLkkE (B) Ãkqýu

(C) rËÕne (D) çkUø÷kuh

100. ¼khíkLkwt .......... yu .......... fkÞo¢{ {kxu green propulsion Lku rðfMkkððkLke fkÞoðkne fhe hÌkwt Au.

(A) ISRO, økøkLkÞkLk (B) DRDO, Agni {eMkkE÷

(C) BARC, Ãkh{kýeÞ xuMx (D) WÃkhLkk Ãkife yuf Ãký Lk®n
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093. Which of the following pairs is/are correctly matched?

1. INS Himagiri - Stealth Frigate

2. Sujeet - Offshore Patrol vessel

3. Saksham - Submarine

(A) 1, 2 and 3 (B) 1 and 2 only

(C) 2 and 3 only (D) 1 and 3 only

094. Which of the following statements is/are correct regarding recently launched World’s largest
renewable energy park?

1. This park spanning over 72,600 Hectares

2. The capacity of this park is approximately 1,00,000 megawatts

3. This park will use both solar and wind energy

(A) 1, 2 and 3 (B) 2 and 3 only

(C) 1 and 2 only (D) 1 and 3 only

095. Which of the following countries inducted India’s submarine INS Sindhuvir in its navy?

(A) Sri Lanka (B) Thailand

(C) Bangladesh (D) None of the above

096. PASSEX Naval exercise 2020 in south china sea was conducted by the _______ countries.

(A) China and Japan (B) Japan and Vietnam

(C) Vietnam and India (D) Vietnam and China

097. The first Lithium Refinery of India is to be setup in _______ state.

(A) Gujarat (B) Rajasthan

(C) Madhya Pradesh (D) Karnataka

098. Recently launched India’s first indigenous Vaccine “Pneumosil” is developed against _______
disease.

(A) Tuberculosis (B) Malaria

(C) Dengue (D) None of the above

099. PM Modi inaugurated first ever driverless train operations in _______ city of the Country.

(A) Chennai (B) Pune

(C) Delhi (D) Bangalore

100. India’s _______ is in the process of developing green propulsion for the _______ programme.

(A) ISRO, Gaganyaan (B) DRDO, Agni Missile

(C) BARC, Nuclear Tests (D) None of the above
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101. Application of _______ enables groundwater flow rates and directions to be evaluated
(A) Darcy’s Law (B) Kastiakov’s Law
(C) Manning’s Law (D) Newton’s Law

102. Reynold’s Number is Expressed as
(A) (VD)/ (B)  / (VD)
(C) (V)/ D (D) (V)/ D

103. The specific capacity of the well is
(A) The ratio of drawdown in a pumping well to the discharge
(B) The ratio of the discharge to drawdown in a pumping well
(C) The ratio of the discharge to diameter of the pumping well
(D) The ratio of capacity of motor to the depth of the water table

104. If the flow is led to a field channel in which a 90 degrees V-Notch is installed, the flow rate (Q)
can be determined by measuring the head (H) over the V-Notch, and the same is given by
(A) Q = 1.38 * H2.65 (B) Q = 2.65 * H1.38

(C) Q = 1.38 * H2.48 (D) Q = 2.48 * H1.38

105. Which of the following is true?
(A) A high specific capacity indicates an efficient, good yielding well
(B) A high specific capacity indicates an inefficient, poor yielding well
(C) A high specific capacity gives no information about the well
(D) None of the Above

106. The ratio of the volume of water that, after saturation, can be drained by gravity, to it’s own
volume is called
(A) Specific Gravity (B) Specific Retention
(C) Specific Capacity (D) Specific Yield

107. The values of specific yield depends on
(A) Grain Size (B) Shape and distribution of pores
(C) Compaction of the stratum (D) All of the above

108. Which of the following is False?
(A) The specific yield of silt < The specific yield of Gravel
(B) The specific yield of silt > The specific yield of Clay
(C) The specific yield of clay < The specific yield of Schist
(D) The specific yield of limestone < The specific yield of clay

109. Which of the following is true?
(A) porosity = specific yield – specific retention
(B) porosity = specific yield * specific retention
(C) porosity = specific yield + specific retention
(D) porosity = specific yield / specific retention

110. The values of the specific yield for alluvial aquifers are in the range of
(A) 10% to 20% (B) 40% to 50%
(C) 0% to 2.5% (D) 65% to 75%

111. The specific yield is expressed as
(A) cu.m./min. (B) percentage
(C) lpm (D) cu.m.
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112. Which of the given options are not considered under field methods for determining the specific
yield
(A) sampling after lowering of water table (B) recharge method
(C) pumping method (D) simple saturation and drainage

113. Ground water storage available annually is given by
(A) Q = Area * Depth of fluctuation of GWT * Specific yield
(B) Q = Area * Depth of fluctuation of GWT * Specific retention
(C) Q = Area * Depth of fluctuation of GWT * porosity
(D) None of the above

114. Volume of water pumped out is given by
(A) Area of aquifer * drop in GWT * Specific yield
(B) Area * Depth of fluctuation of GWT * Specific retention
(C) Area * Depth of fluctuation of GWT * Specific capacity
(D) None of the above

115. The following may be estimated by observing the discharge rates of the neighboring wells under
nearly identical hydrological situations
(A) Specific Capacity (B) Area of Aquifer
(C) Safe yield (D) None of the above

116. Uniformity coefficient is given by
(A) D60 / D10 (B) D10 / D60

(C) D90 / D10 (D) D10 / D90

117. While CU < 2, D50 of gravel pack / D50 of aquifer should lie between
(A) 1.50 & 3.50 (B) 9 & 12.50
(C) 15.50 & 20 (D) 5.50 & 9

118. While CU > 2, D50 of gravel pack / D50 of aquifer should lie between
(A) 2.50 & 5.50 (B) 15.50 & 20
(C) 12 & 15.50 (D) 20 & 30

119. The gravel packing is also referred to as
(A) Artificial gravel treatment (B) Gravel Shrouding
(C) Gravel Filter (D) All of the above

120. The porosity of clay is around
(A) 1% to 10% (B) 45% to 55%
(C) 30% to 40% (D) 10% to 20%

121. The porosity of Limestone is around
(A) 1% to 10% (B) 45% to 55%
(C) 30% to 40% (D) 10% to 20%

122. Which of the given options are not considered under laboratory methods for determining the
specific yield
(A) simple saturation and drainage (B) correlation with the particle size
(C) centrifuge moisture equivalent (D) recharge method

123. The specific yield of sandstone is around
(A) 15% to 25% (B) 25% to 35%
(C) 5% to 15% (D) 35% to 45%
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124. The porosity of sandstone is around
(A) 20% to 30% (B) 10% to 20%
(C) 30% to 40% (D) 40% to 45%

125. In case of materials, which cave-in, such as _______, the annular space gets filled soon, wherein
it may not be necessary to make any special efforts to fill in the annular space
(A) sand and gravel (B) silt and clay
(C) loamy (D) silty loam

126. Wherever the material overlying the aquifer is of the non-cave-in type, such as _______, the
annular space should be grouted with cement slurry.
(A) sand (B) gravels
(C) pebbles (D) clay

127. In cases where the annular space should be grouted with cement slurry, the diameter of the
drilled hole is kept _______ larger than the well casing, to facilitate the placing of the grout.
(A) 1 to 3 cms (B) 20 to 30 cms
(C) 7 to 15 cms (D) 50 to 100 cms

128. In diamond core drilling, the diamond bits are used for cutting preferably
(A) extremely hard and abrasive formations, loosely cemented or consolidated
(B) extremely hard and abrasive formations, tightly cemented or unconsolidated
(C) Soft formations
(D) None of the above

129. _______ is suitable for drilling 15 to 45 cms diameter holes 100 m to 150 m deep in soft rock and
unconsolidated formation
(A) Diamond core drilling (B) Rotary drilling
(C) Both (A) and (B) (D) None of the Above

130. Reverse circulation drilling is a method of
(A) core drilling (B) cable percussion drilling
(C) down-the-hole-hammer drilling (D) rotary drilling

131. In case of granite type of formations, the performance of rotary drilling method is
(A) Rapid (B) Difficult
(C) Slow (D) Very Rapid

132. In case of basalt type of formations, the performance of rotary drilling method is
(A) Rapid (B) Difficult
(C) Slow (D) Very Rapid

133. Comparatively much less water is needed for drilling in
(A) Hydraulic rotary methods. (B) Jetting methods
(C) Cable tool drilling method (D) Both (A) and (B)

134. _______ could also be estimated from moisture content determined by sampling or nuclear
meter logging in the cone of depression around a pumped well.
(A) Specific yield (B) surface runoff
(C) evaporation (D) evapotranspiration

135. The impermeable geologic formations, which contain water but are not capable of transmitting
a significant quantity are called as
(A) Aquifuge (B) Aquitard
(C) Aquifers (D) Aquicludes
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136. A geologic formation of rather impervious compared to an Aquifer (insufficient for pumping
from wells) is called as
(A) Aquifuge (B) Aquitards
(C) Aquicludes (D) None of the above

137. Clay layers interbedded with Sand are suited examples of
(A) Aquifers (B) Aquicludes
(C) Aquifuge (D) Aquitards

138. Solid Granite is considered to be suitable example of
(A) Aquifers (B) Aquicludes
(C) Aquifuge (D) Aquitards

139. Confined Aquifers are also known as
(A) Non-Artesian Aquifers (B) Artesian Aquifers
(C) Perched Aquifers (D) None of the above

140. _______ is a permeable bed, only partly filled with water, and overlying a relatively impervious
layer.
(A) Phreatic Aquifer (B) Artesian Aquifer
(C) Confined Aquifer (D) None of the above

141. _______ aquifers occurs whenever a ground water body is separated from the main ground
water by a relatively impermeable stratum of small areal extent and by the zone of aeration
above the main body of ground water
(A) Unconfined (B) Confined
(C) Artesian (D) Perched

142. Laminar flow is also known as
(A) Viscous Flow (B) Super critical flow
(C) Backward flow (D) Non-viscous Flow

143. As per Darcy’s Law, which of the following holds good
(A) V = k * (h1 – h2)/L (B) L = V * (h1 – h2)/k
(C) V = L * (h1 – h2)/k (D) V = k * (h1 + h2)/L

144. The upper surface of the zone of saturation or the surface of atmospheric pressure in an
unconfined Aquifer is called as
(A) Peizometric surface (B) Water table
(C) Ground level (D) None of the above

145. _______ is the distance from the centre of the well to the outermost limit of the cone of depression,
where velocity of water is zero.
(A) Radius of well (B) Diameter of Aquifer
(C) Radius of influence (D) Transmissibility

146. The following precautions must be taken in case of V-Notch to have the correct readings
(A) The V-Notch of the weir must be exactly 90 degrees
(B) The sharp edge must face upstream
(C) The thickness of the lip should not exceed more than 1.5 mm
(D) All of the above

147. The type and method for drilling a water well depends upon
(A) Geologic conditions (B) Diameter of Well
(C) Depth of the well (D) All of the above

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



GEP-1 - A ] 34 [ Contd.

148. The _______ should always be placed at the bottom of the hole, so that the annular space is filled
completely without leaving any gap.
(A) Loose sand (B) Grout
(C) Pebbles (D) None of the above

149. The thickness of the gravel layer in the annular space, will vary depending upon the
(A) Type of formation (B) Method of drilling
(C) Diameter of the bore hole (D) All of the above

150. The preferable thickness of the gravel layer in the annular space should atleast be minimum
(A) 15 cms (B) 50 cms
(C) 75 cms (D) 60 cms

151. The aquifer tapped by open well is most probably
(A) Confined aquifer (B) Unconfined Aquifer
(C) Artesian aquifer (D) None of the above

152. Which of the following is true?
(A) Pumping from a well in a leaky aquifer removes water by horizontal flow within the aquifer
(B) Pumping from a well in a leaky aquifer removes water by vertical flow through the aquitard

into the aquifer
(C) Both (A) and (B)
(D) Neither (A) nor (B)

153. A region supplying water to a confined aquifer is known as
(A) Recharge area (B) Drawdown area
(C) Confined Area (D) Perched area

154. _______ are cemented forms of sand and gravel.
(A) Sandstone (B) Clayey soils
(C) Volcanic rocks (D) Igneous rocks

155. _______ aquifers occur, where ground water is confined under pressure, greater than atmospheric
by overlying relatively impermeable strata.
(A) Non-artesian (B) Perched
(C) Artesian (D) None of the above

156. The coefficient of permeability of an aquifer
(A) increase with increase in temperature (B) increase with decrease in temperature
(C) is independent of temperature (D) decreases with depth of aquifer

157. An isolated unconfined aquifer, available in zone of aeration above the main ground water storage
is also known as…
(A) artesian aquifer (B) leaky aquifer
(C) perched aquifer (D) water table aquifer

158. Aquifers which are overlain or underlain by semi-permeable strata are known as…
(A) Aquifuge (B) aquitard
(C) aquiclude (D) leaky aquifer

159. Specific yield of an aquifer is defined as the ratio of the
(A) volume of pore space to the volume of soil
(B) volume of water freely drained from a saturated soil to the volume of soil
(C) volume of water retained, when a saturated soil is freely drained to the volume of soil
(D) volume of pore space to the volume of solid
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160. The upper surface of saturation zone obtained by joining the water levels in several observation
wells penetrating an unconfined aquifer under normal condition represents _______

(A) piezometric surface (B) water table surface

(C) capillary fringes (D) cone of depression

161. An influent stream of basin

(A) contributes runoff to groundwater storage

(B) derives runoff from groundwater storage

(C) neither contributes nor derives runoff from groundwater storage

(D) observed within groundwater storage

162. The horizontal distance between the centre of the pumping well and the point of zero drawdown
is…

(A) radius of influence (B) effective length

(C) length of aquifer (D) diameter of influence

163. Calculate the ground water flow (Q) through aquifer, A = cross-sectional area of aquifer,
S = slope of ground water table, T = transmissibility of aquifer, K = coefficient of permeability of
aquifer

(A) Q = A  S  T (B) Q = b  S  T

(C) Q = A  S  K (D) Q = b  S  K

164. For Darcy’s law is valid for ground water flow, when Reynold’s number is less than or equal
to,…

(A) 0.01 (B) 0.1

(C) 1 (D) 10

165. Flowing well occurs in areas where the

(A) water table is not very close to the soil surface

(B) artesian pressure is sufficient to raise the water above the ground level

(C) elevation of the piezometric head line is below the ground surface

(D) area with less numbers of capillary fringe

166. Specific capacity of a well is

(A) constant for all type of well (B) varies with material of well

(C) varies with aquifer characteristics (D) not related with discharge rate

167. Ground water storage is the water…

(A) available in root zone of crop (B) available in saturated zone

(C) available in aeration zone (D) available in capillary zone

168. In ground water engineering the reasonable depth of effective root zone is considered in design..

(A) 100-120 cms (B) 150-200 cms

(C) 80-100 cms (D) 10-20 cms

169. Hydraulic conductivity of porous medium does not depend on…

(A) wind velocity above surface (B) void ratio of soil mass

(C) structure of medium (D) viscosity of water
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170. In unconfined aquifer bounded by no flow boundary, the recharge due to rainfall is 100 mm,
then what will be change in water table if specific yield is 10%.
(A) rise of 1000 mm (B) fall of 1000 mm
(C) rise of 100 mm (D) rise of 10000 mm

171. If K is coefficient of permeability, and B is thickness of aquifer, the equation for coefficient of
transmissibility T, is,..
(A) T = K/B (B) T = B/K
(C) T = K (D) T = BK

172. For unconfined aquifer, the recommended range of radius of influence R during pumping of
well is
(A) 10 to 100 m (B) 150 to 300 m
(C) 300 to 400 m (D) 400 to 600 m

173. For unconfined aquifer, K is coefficient of permeability in m/sec and s is drawdown in m at well,
the approximate expression for radius of influence R during pumping of well suggested by
Sichardt is...
(A) R = 300s(K) (B) R = 300s(K)^0.5
(C) R = 300s(K)^1.5 (D) R = 300s/K

174. The porosity of aquifer 30% and the specific retention is 10% , determine the specific yield of
aquifer.
(A) 0.2 (B) 0.4
(C) 0.03 (D) 0.33

175. In an area of 100 hectare, the water table dropped by 5m, find change in ground water storage
in Ha-m, if specific yield of aquifer is 20%.
(A) 2500 (B) 4
(C) 100 (D) 0.01

176. In artesian aquifer the storage coefficient depends on...
(A) Bulk modulus of elasticity of aquifer material only
(B) Bulk modulus of elasticity of aquifer material and bulk modulus of elasticity of water
(C) Bulk modulus of elasticity of water only
(D) None of the above

177. Subsurface water which is held by surface tension force on the surface of soil particle is known
as...
(A) capillary water (B) hygroscopic water
(C) gravitational water (D) free water

178. The specific capacity of well is defined as..
(A) discharge multiply by drawdown
(B) discharge of well per unit drawdown in pumping
(C) drawdown per unit discharge during pumping
(D) difference of discharge and drawdown

179. Larger value of specific capacity shows...
(A) More productive well (B) Less productive well
(C) Less efficient well (D) Zero drawdown well
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180. For confined aquifer, specific capacity of a well…
(A) Remains constant for different discharge
(B) Increases as discharge increases
(C) Decreases as discharge increases
(D) Considered as one

181. Interference among adjacent wells, having same diameter and drawdown..
(A) cause increase in individual discharge
(B) cause decrease in individual discharge
(C) does not have effect on discharge of adjacent well
(D) does not have effect on drawdown of adjacent well

182. Choose the most appropriate definition of deep well
(A) Well having more than 100 m depth
(B) Well having depth equal to upper unconfined aquifer
(C) Well which is just supported on mota layer and draws water through sides only
(D) Well which is supported on mota layer and draws water through a hole bored in mota layer

183. Pick up the incorrect statement for open well from the following
(A) It is a shallow well
(B) Provided in upper unconfined aquifer only
(C) Yield of such a well is higher than tube well drilled in the same area
(D) Yield of such a well is lower than tube well drilled in the same area

184. Choose correct relation between well loss, aquifer loss and total drawdown for pumping test of
tube well…
(A) well loss = total drawdown + aquifer loss
(B) well loss = total drawdown - aquifer loss
(C) aquifer loss = total drawdown + well loss
(D) well loss = total drawdown  aquifer loss

185. The effective size D10 is the grain size corresponding to…
(A) 90% material of sample is finer and 10% is coarser
(B) 80% material of sample is finer and 20% is coarser
(C) 10% material of sample is finer and 90% is coarser
(D) 20% material of sample is finer and 80% is coarser

186. Choose correct formula for finding uniformity coefficient Cu, which shows the variation in
grain size of granular material…
(A) Cu = D90 / D10 (B) Cu = D70 / D10
(C) Cu = D60 / D10 (D) Cu = D50 / D10

187. In strainer type tube well, the mesh size of the strainer is kept equal to…
(A) D60 to D70 of the surrounding soil (B) D10 to D20 of the surrounding soil
(C) D30 to D50 of the surrounding soil (D) D40 to D50 of the surrounding soil

188. In case of design of strainer type tube well...
(A) the total surface area of tube well should be equal to the area of perforations
(B) the total surface area of tube well should be less than the area of perforations
(C) the total surface area of tube well should be more than two times the area of perforations
(D) the total surface area of tube well should be more than three times the area of perforations
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189. To reduce chances of electrolytic action, it is preferable that, the strainer type tube well should
be…

(A) made from two metal
(B) made from one metal only
(C) made from three different metal is allowed
(D) strainer made from plastic and casing made from two metal

190. The safe limit of entrance velocity of water near screen, to reduce the well losses, and entry of
fine particles of sand in to the well through screen slot, should not exceed…
(A) 6 to 8 cm/sec (B) 3 to 6 cm/sec
(C) 8 to 10 cm/sec (D) 10 to 12 cm/sec

191. A tube well drilling method which make use of clay and water, known as drilling mud , is
continuously circulated through the drill shaft is..

(A) hydraulic rotary method (B) percussion method
(C) water jet boring method (D) reverse rotary method

192. A tube well drilling method which is used for boring well up to 45 cm in diameter and over
1600 m depth is...
(A) hydraulic rotary method (B) percussion method

(C) water jet boring method (D) cable tool method
193. Read the following statements and decide conclusion logically Statement:-

If this wrong that ‘both (A) and (B) are good students’, then
(A) Both (A) and (B) are bad students

(B) (A) is bad but (B) is good student
(C) (A) is good but (B) is bad student
(D) Either Both are bad or one of them is a bad student

194. Find out the missing word from the option to match the relation

Air : Atmosphere ;; Water :
(A) Island (B) Earth
(C) Ocean (D) Drop

195. Find out the missing value from the option to match the relation

If 1 = 1, 2 = 3, 3 = 5 and 4 = 7 then 5 = ....?....
(A) 9 (B) 8
(C) 7 (D) 6

196. Find out the missing value from the option to match the relation

If 2  6 = 3, 3  9 = 3 and 4  20 = 5 then 5  40 = ....?....
(A) 15 (B) 200
(C) 7 (D) 8

197. If a card is drawn from a well shuffled pack of 52 cards, find the probability that the card is a
king...

(A) 1/13 (B) 2/52
(C) 1/52 (D) 1
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198. Read following statements and decide conclusion logically. Statement:-
ability is poor man’s wealth this means _______
(A) A poor man is always able
(B) A poor man has the ability to earn wealth
(C) A wealthy man is always able
(D) A poor man can earn wealth if he has ability

199. Find out the missing word from the option to match the relation.
ABC : ZYX ;; CBA : ....?....
(A) XYZ (B) BCA
(C) YZX (D) ZXY

200. Find out the missing value from the option to match the relation.
6 : 35 ;; 11 : ....?....
(A) 120 (B) 115
(C) 122 (D) 121
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